or een topdag

Y/ visiativ




A RS

DS siSieries | The BDEXPERIENCE” Company



Introductie %/ visiativ

Winfred Rozeboom

Application Consultant | +/- 10 jaar
CAD | PDM | PLM | 3DEXPERIENCE | Visualisation ’
SOLIDWORKS Elite Application Engineer
Industrial Design Engineer

Winfred.Rozeboom@visiativ.com






% ! DOCUMENT MANAGEMENT

¥, COLLABORATION

»>» DESIGN RELEASE

CHANGE MANAGEMENT

b,

S SOLIDWORKS Y/ visiativ 5 2essawr



%

# The 3DEXPERIENCE platform X +

(— e 8@ 3ds.com/3dexperience

Welcome Eric_ ENGINEER

Remember me

Log in
3| [>
| am not Eric ENGINEER

Create your 3DEXPERIENCE ID
V+R Forgot your password?

— &
e

* You can also use your SOLIDWORKS ID

3DEXPERIENCE

Waiting for eul-ds-iam.3dexperience.3ds.com...

Manage cookies



& The 3DEXPERIENCE platform x +

W — ot
“— c @ 3ds.com/3dexperience
_ Eric ENGINEER 2
3DEXPERIENCE | 3DDashboard Industry Innovator v Demo Tenant - S + 2 Q ¥
=) L My Tasks My Data My Markups My Changes My Routes == =
ENOVIA - Collaborative Tasks - Private » Eric ENGINEER - L1 v
" e = |+ |
To Do In Work Completed
H Finalize Knee Concept Models
S
= W 1262022 @ 10 Do

E Complete Product Specification Document

anl

D 1252022 @ To Do



Title'

Finalize Knee Concept Models

Description

Finalized the knee concept models and provide to

manufacturing for their review and feedback. Work on
| incorporating any suggestions they may have for
Show More




Title'

Complete Product Specification Document

Description

Complete the product specification document and ensure
that it is up to date.




& The 3DEXPERIENCE platform x +

“— c @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator ok

3 Demo Tenant ~ {} + F:) .CI Yy
— V.R

=) My Tasks My Data My Markups My Changes My Routes = =
ENOVIA - Collaborative Tasks - Private » Eric ENGINEER - L1 v
= [HDE
Q e o
To Do In Work Completed
H Finalize Knee Concept Models i Complete Product Specification Document
S S
= W 1262022 @ 10 Do = 3 1262022 @ in Work



& The 3DEXPERIENCE platform x + s — et

“— c @ 3ds.com/3dexperience
3DEXPERIENCE | 3DDashboard Industry Innovator SEnEE O+ 2 4 W%
=) L My Tasks My Datar ~ My Markups My Changes My Routes = =
ENOVIA - Bookmark Editor - BioOl My Data  _ projects (Demo Tenant ) O - L ! g 3DPlay - L i
Projects Q
Title 13| Enterprise [tem Mumber | Description Revision Maturity State |s Last Revision | Lock Cnwner Memnu

Project 1000 Drait Eric ENGINEER s

Project 2000 Draft Eric ENGINEER o

Project 3000 Draift Eric ENGIMNEER L

Project 4000 Drait Eric ENGINEER L
Bookmark  Document Wiew Tools Lifecycle  Collaboration

W Ml owE k@ o



& The 3DEXPERIENCE platform x + s — et

“ & @ 3ds.com/3dexperience
ZDEXPERIENCE | 3DDashboard Industry Innovator s [';gsnf;‘?;::f‘tﬁ y O + 2 & W%
=) L My Tasks My Data ~ My Markups My Changes My Routes == =
ENOVIA - Bookmark Editor - BioDapt Design - Project 1000 (Demo Tenant ) O - L i 3DPlay - L i
Projects B Project 1000 Q
Title 13| Enterprise [tem Mumber | Description Revision Maturity State |s Last Revision | Lock Cnwner Menu

E E ar VF2 &JDT VF2 FOOT ASSEMBLY A Released v Eric ENGIMNEER L
- '
Ll

+ @ VF2 Foot{VF2 Foot) DT-000935 VF2 Foot Assembly : Feleazed Eric ENGINEER L

Bookmark  Document View Tools Lifecycle  Collaboration

Ll s-© w B Oad (B 1.

4



& The 3DEXPERIENCE platform x + s — et

“ & @ 3ds.com/3dexperience
3DEXPERIENCE | 3DDashboard Industry Innovator ~ S O + 2 4 W%
=) L My Tasks My Data ~ My Markups My Changes My Routes == =
ENOVIA - Bookmark Editor - BioDapt Design - Project 1000 (Demo Tenant ) S = L1 v 3DPlay - VF2 Foot{VF2 Foot) - f1
Projects P Project 1000 Q
Title 13| Enterprise [tem Mumber | Description Revision Maturity State |s Last Revision | Lock Cnwner Memnu

i VF2 FOOT VF2 FOOT ASSEMBLY A Released v Eric ENGIMNEER L

’ + @ VF2 Foot{VF2 Foot) DT-000935 VF2 Foot Assembly A Feleazed v Eric ENGINEER L

Bookmark  Document View Tools Lifecycle  Collaboration View Toaols

Ligs-©Ow B kD K g G-

PP LS9 0 S0




VF2 Foot(VF2 Foot) A 1

Eric ENGINEER 1/25/2022, 8:02:36 PI
» =

¥ Afttributes

Type
Physical Product

Title
VF2 Foot(VF2 Foot)

Name
2021-SW-00045647

Revision
A

Revision Comment

Description
WF2 Foot Assembly

Creation Date
1/25/2022, 7:51:47 PM

Created From

Scale
Normal Range

Collaborative Policy
Engineering Definition

Modification Date
1/25/2022, 8:02:36 PM

Maturity




& The 3DEXPERIENCE platform x + s — et

“ & @ 3ds.com/3dexperience
3DEXPERIENCE | 3DDashboard Industry Innovator ~ S O + 2 4 W%
=) L My Tasks My Data ~ My Markups My Changes My Routes == =
ENOVIA - Bookmark Editor - BioDapt Design - Project 1000 (Demo Tenant ) S = L1 v 3DPlay - VF2 Foot{VF2 Foot) - f1
Projects P Project 1000 Q g
Title 13| Enterprise [tem Mumber | Description Revision Maturity State |s Last Revision | Lock Cnwner Memnu

i VF2 FOOT VF2 FOOT ASSEMBLY A Released v Eric ENGIMNEER L

’ + @ VF2 Foot{VF2 Foot) DT-000935 VF2 Foot Assembly A Feleazed v Eric ENGINEER L

Bookmark  Document View Tools Lifecycle  Collaboration View Toaols

Ligs-©Ow B kD K g G-

PP LS9 0 S0




Home Insert Design

(s & & &
Mew from  Open Save Lock
Ternplate i‘:f

File Operations

0 words

Page 1 of 1

Layout

References

Attributes Revisions/
Versions

Document Information

Mailings
*u
5 L&
File
Smart
Link -
Insert

A

T

3DEXPERIENCE

%] To Database

ﬁ From Database

Synchronize Attributes

Q (&

Search Explore in
browser

Find

Document! - Waord

Iove

Connection




E © = Project Specification.docx - Word

File Home Insert Design Layout References Mailings Review View SDEXPERIENCE
* 5 w [=3E <4 To Database [
(s B & 2 & G E Q (& 3 ®
Newfrem Open  Save Unleck  Attributes Revisions/ File &1 From Database Search Explorein Move  Sync About  Logout
Termnplate Save Versions Smart Qr browser
As~ Link - Code~
File Operations Document Information Insert Synchronize Attributes Find Move Connection ~

v X

»" Document(s) downloaded successfully to: c:\temp

PROJECT SCOPE | 55 SOLIDWORKS

January 10, 2022

OVERVIEW

1. Project Background and Description

ﬂ [Describe how this project carmne about, who is involved, and the purpose. ]

Note: To delefe any tip (such as this) just click it and start typing. If you're not yet ready to add your own text, just
click a fip and press spacebar to remove it.

2. Project Scope

ﬂ [Project scope defines the boundaries of a project. Think of the scope as an imaginary box that will enclose all the
project elements/activities. It not only defines what you are doing (what goes into the box), but it sets limits for what
will not be done as part of the project {what doesn't fit in the box). Scope answers guestions including what will be
done, what won't be done, and what the result will look like.|

3. High-Level Requirements

Page 1 of 2 388 words U<



E © @] = Project Specification.docx - Word

File Home Insert Design Layout References Mailings Eview View SDEXPERIENCE

ﬂ@@%ﬁ‘ﬂ&@mm’“ Q @ 33 @ O

New frem Open Unleck  Attributes Revisions/ File &1 From Database Search Explorein Move  Sync About  Logout

Termnplate Versions Smart browser
As~ Link -

A

T

File Operations Document Information Insert Synchronize Attributes Find Move Connection ~

v X

»" Document(s) downloaded successfully to: c:\temp

| PROJECT SCOPE | MOTO KNEE 5 SOLIDWORKS

hanu:aryr 24, 2022

OVERVIEW

1. Project Background and Description

ﬂ [Describe how this project carne about, who is involved, and the purpose. ]

Note: To delefe any tip (such as this) just click it and start typing. If you're not yet ready to add your own text, just
click a fip and press spacebar to remove it.

2. Project Scope

ﬂ [Project scope defines the boundaries of a project. Think of the scope as an imaginary box that will enclose all the
project elements/activities. It not only defines what you are doing (what goes into the box), but it sets limits for what

will not be done as part of the project {what doesn't fit in the box). Scope answers guestions including what will be
done, what won't be done, and what the result will look like.|

3. High-Level Requirements

Page 1 of 2 390 words U<



E © = Project Specification.docx - Word

File Home Insert Design Layout References Mailings Eview View SDEXPERIENCE

ﬂ%@%@‘ﬂ&qm“‘“’“ Q @ 33 @ O

New frem Open Attributes Revisions/ File & From Database Search Explorein Move  Sync About  Logout

Termnplate Versions Smart browser
As - Link -

A

T

File Operations Document Information Insert Synchronize Attributes Find Move Connection ~

v X

»" Document chedked in successfully to object: DOC-SW-0000125

| PROJECT SCOPE | MOTO KNEE 5 SOLIDWORKS

hanu:aryr 24, 2022

OVERVIEW

1. Project Background and Description

ﬂ [Describe how this project carmne about, who is involved, and the purpose. ]

Note: To delefe any tip (such as this) just click it and start typing. If you're not yet ready to add your own text, just
click a fip and press spacebar to remove it.

2. Project Scope

ﬂ [Project scope defines the boundaries of a project. Think of the scope as an imaginary box that will enclose all the
project elements/activities. It not only defines what you are doing (what goes into the box), but it sets limits for what

will not be done as part of the project {what doesn't fit in the box). Scope answers guestions including what will be
done, what won't be done, and what the result will look like.|

3. High-Level Requirements

Page 1 of 2 390 words U<



PROJECT SCOPE | MOTO KNEE 97_; SOLIDWORKS

January 24, 2022

OVERVIEW

1. Project Background and Description

n [Describe how this project came about, who is involved, and the purpose.]

Note: To delete any tip (such as this) just click it and start typing. If you're not yet ready to add your own text, just
click a tip and press spacebar to remove it.

Revisions/Versions

Name File Name
» a4 DOC-SW-0000125 Project Specification.docx Project Specification A In Work

Project Spedification.docx Project Specification.docx 2
Project Specification.docx Project Specification.docx

« || Originated

1/24/2022 4:07:40 PM Upda
1/24/2022 3:50:46 PM

LN

Page 1 of 2 390 words []




& The 3DEXPERIENCE platform x + s — et

“ & @ 3ds.com/3dexperience
o Eric ENGINEER s
3DEXPERIENCE | 3DDashboard Industry Innovator Demo Tenant - o 4+ 2 < ¥
=) L My Tasks My Data My Markups My Changes My Routes == =
ENOVIA - Collaborative Tasks - Private » Eric ENGINEER - L1~
Iy % ] ]
n B ¥
Complete
To Do In Wﬂrk “Indicates required fields
Title’
a Finalize Knee ':-DI'IIZEI:]'[ Models a 'CD”HF"ET.E Product SDE:-:ifiCEltiCﬂ Document ] Ccmplete Product Speciﬂcatiﬂn Document
S
= W 1262022 @ 10 Do = 3 1262022 @ in Work
Description

Complete the product specification document and ensure
that it is up to date.

Parent Project

Priority

Il - EEE

Maturity State

In Work v

Percent Complete

10%

Actual Start Flanned End

Tue, Jan 25, 2022 Wed, Jan 26, 2022
P Fixed o Fixed
Estimated Duration +/-
1 Days v 0

Attachments g,

Close
L L1



S SOLIDWORKS & 0O -F- - & - 58 §oy ~ MOTO KNEE - Sheet1 B search mysolidworks Q- @® @ - B F x

'S & A o A s D Balloon o/ Surface Finish Geometric Tolerance £4F Center Mark =
Dini?r?gnn h;:s:_lil Criséliler E::ﬂ:: i Linngerjste ,g:\t Auto Balloon  #P¢ Weld Symbaol Datum Feature 21T B: Centerline EIE Revision Cloud o
= = n@u Magnetic Line L& Hole Callout @ Daturn Target = d Area Hatch/Fill - Y
Drawing | Annotation | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | PHEPE2CR < 00 _ & x K 3DEXPERIENCE £} %
> i)
T4 ﬁ] Component Name Status Rev Is... Maturity State Enterprise ltem Number
TE? K’:EE - [NE MOTO KNEE B A A In Work
OCKS
Annutatiuns N o | EMEREERSE - @ MGTCEVNEE (METT) BAEE) =] A A i
v [ sheet! L FRAVE AS1ENEL L % FHCS=d= (M& X 1X 1. =y A Released OT-000917
v 2] Sheet Format1 AR % FHCS<3>(M&6 X 1X1... - Al Released DT-000917
» [@) Drawing Viewd W @ b @ FHcs>Mexix1. £, A1 Released DT-000917
™ L Sheet2 Wl B rHos<>Mex1X1.. £, A Released DT-000917
" i Shectfomm T = B stss<t>meex3 .. %, A1 Released DT-000916
r Drawing View5 EE I
G s T @ BHes<e> msx08x. £, A1 Released DT-000915
ERy Bil of Materialsd - @ BHCs<e>MsX08X. I, A Released DT-000915
I @ sHese-msx125. £, A1 Released DT-000914
— % BHCS<7> (M8 X 1.25 ... </ A Released DT-000914
— @ sHcs<s>msxo0sx. £, A1 Released DT-000913
@ BHCS<5> M8X1.25 .. e, A Released DT-000912
J @ BHCS<4> MEX1.25 .. > A1 Released DT-000912
@ TRACK FOLLOWERS... e/ A Released DT-000911
@ TRACK FOLLOWERS... 2 A1 Released DT-000911
@ BALLBEARING<S>(8.. 5, Al Released DT-000883
@ BALLBEARNG<>(8.. 5, At Released DT-000883
@ BHCs<2> Mex1.25 . e/ A Released DT-000882
@ BHCs<3> MeXx1.25 . 2 A1 Released DT-000882
B Sracer<i>(8x16x25 I, A Released DT-000877
% Spacer<2= (8 x16x 25) = A Released OT-000877
-] [@ 17-853<1> (17-853) = A In Work
@ BHCs<1> M5 X .. 2 A Released DT-000910
e — p— @ sHos<2> msx.. %, A1 Released DT-000910
, @ BHCs<3> M5 X .. > A1 Released DT-000910
= @ BHCs<4> M5 X .. e/ A Released DT-000910
= @ BHCs<s> M5 X . 2 A1 Released DT-000910
@ BHCs<6> M5 X .. e, A Released DT-000910
@ BHCS<7> mnx : A1 Relegsed DT-000910
B e Lifecycle | Simulation View Tools NS AT AnngQ
i = g :
R b Sheet! | b Sheet? | &5 | &- ‘lia' GECQ&2]ls HE G £ ,'I

SOLIDWORKS Under Defined  Editing Sheetl =2 - MMGEE - e



MOTO KNEE - Sheet1 search MySolidworks Q- @ @ - B P X
{*:'} Center Mark =
(|3 Centertine {3 RevisionCloud  '20'€®
' Area Hatch/Fill . )
G- @ n O 0 - P X

% Component Name Status Rev Is... Maturity State Enterprise ltem Number
7] - MOTO KNEE P e In Work -
_ | - MOTO KNEE (MOTOKNEE) & # A1 In Work
n = ;«3 @ FHCS<4> (MEX1X1.. S, A1 Released DT-000917
1 L ' Q FHCS<3> M6 X 1X1... =, A1 Released DT-000917
T — @ L B rFHcse>Mex1x1. £, A1 Released DT-000917
T ® rHes<>mexi1x1. £, A1 Released DT-000917
T B L L I @ sHss<>Mex2x30.. £, A1 Released DT-000916
ium @ BHCs<o> Msxo08x.. £, A1 Released DT-000915
I O T T S TERE FE e © BHCs<e>MsXx08X.. £, A1 Released DT-000915
T N T [ T @ BHes<e> MBx125.. &, A1 Released DT-000914
e —— © sHes>mexi12s.. S ok s SO L s coic
R @ sHes<>Msxosx. %, At Released DT-000913
© BHcs<s>Mex125.. £, A1 Released DT-000912
© sBHCs<a>Mex125.. £, A1 Released DT-000912
© TRACKFOLLOWER<.. £, A1 Released DT-000911
@ TRACKFOLLOWER<.. £, A1 Released DT-000911
@ BALLBEARING<5>(8.. 5, A1 Released DT-000883
Bl oAl DEADINA O /0 ’ A 4 Dalameead OT AANCOA2



{{} Center Mark

BB Centerline

B Area Hatch/Fill

3 Revision Cloud

MOTO KNEE - Sheet1

]

Tables

Search MySolidWorks

@@ -

R -

T

o [0 | R CELCAPTION

| | FRAVE ASSENRL ¢

’ 1 TOP MvOT ouN!

s 1 g

! 1 ROO EXD

5 | BRONTE BSHRG - MDA 100X 2 L0
[ 1 SHAFT TRASY,

’ ‘ BUSHANG LIS M DAN OO X 250000
[ ; SPALER

o 1 FORDPS SHOCK CYLEER

! 1 FOS 0PSO

1" ; L1ieo rOGE TYPE ROLLER FOULLODNER . Sk YORS. %
e ‘ L1itoess SN HEAPRNG 0B CREH

15 | LOWER BRACKET

1" | LOWER PN

¥ | 4§ HOLE PrRaan

1t 4 QI {Lees BHCE NS €128 2 2000

1 ‘ LY-{Le012 BHCE NS €128 X 010N

1® ’ L1-{LEo e BRCE NS €128 X B0

1t b Cr-{teod BRCENS (08 £ 1DLONG

Pl 1 CYL{teos IHCE VS RAS A 12LEND

a1 ‘ CT{0cel™ WASHER By w24

P 1 L1{eo MEEZ K 30 LONS SHOULDER SEREW

e ! D14Kee? FHCS NG 21X 12000

Component Name Status
: MOTO KNEE B
-| [ MOTO KNEE (MOTO KNEE)

FHCS<4> (M6 X 1X 1...
FHCS<3> (M6 X 1X1...
FHCS<2>(Me X 1 X 1...
FHCS<1> (M6 X 1X 1...
SHSS<1> (M6x2 X 30 ...
BHCS<9> (M5 X 0.8 X..
BHCS<8> (M5 X08X...
BHCS<6> (M8 X 1.25 ...

SHCS<3> (M5 X 0.8 X..
BHCS<5> (M8 X 1.25 ...
BHCS<4> (M8 X 1.25 ...
TRACK FOLLOWER:=...
TRACK FOLLOWERK«...
BALL BEARING<5> (8...

(
(
(
BHCS<7> (M8 X 1.25 ..
(
(

b i e 2 T s e T e

Maturity State Enterprise Iitem Number

In Work

In Work

Released
Released
Released
Released
Released
Released
Released
Released
Released
Released
Released
Released
Released
Released

Released

DT-000917
DT-000917
DT-000917
DT-000917
DT-000916
DT-000915
DT-000915
DT-000914
DT-000914
DT-000913
DT-000912
DT-000912
DT-000911
DT-000911
DT-000883

B & X




S SOLIDWORKS  » D0 H- -5- - 5 8 §oy - MOTO KNEE - Sheet1 B search Mysolidworks a-@® @ - B 2 x

{N Eﬁ{ "’*\t} ﬁ A G ;B’ Balloon g/'- surface Finish Geometric Tolerance {-i-} Center Mark @
Dirigsgnn hr,lg:_:' ngs:ﬂ IESirr:?::: L LI”P‘;?EE::?E ,@ Auto Balloon  #P* Weld Symbaol Datum Feature L B] Centerline EIE Revision Cloud -

- - nﬁjﬂ Magnetic Line LiZ Hole Callout  §xr} Datum Target | 2rea HatenFill . -
Drawing | Annotation | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | PR 4 n 00 _ &2 x E 3DEXPERIENCE o) X
> )

AT @ Component Name Status Rev Is... Maturity State Enterprise Item Number
MOTO KNEE I, MOTO KNEE = 2 A In Work
* L ks .| @ MOTOKNEE (MOTOKNEE) [y A A In Work
Ll o . | a Al Released DT-000917
¥ elease -
v [ sheet Save to 3DEXPERIENCE x

+ [0 Sheet Format] Al Released DT-000917

b - iy Wi : Files to be saved, Mew files will be saved in collaborative space BioDapt Design. L\\b H Bookmarks E Export A Relzazad DT-000917
- | Sheet? -

h E: - o Mame Title Type  Display Mame Bookmark Save Status 2 i i inintiadi
i 5heet Forma
- DRW-SW-00001720 MOTO KNEE 4 MOTO KMEE v 0K Al Released DT-000916
Raionss CAD-SW-00015120 MOTO KNEE ® 4 MOTO KNEE v oK Al Released NS
B ' i
% i vy Vicw CAD-SW-00015104 17-840 & 17-840 + Unchanged A1 Released DT-000915
Bill of Matenalsd

CAD-SW-00015119 17-841 @& 17-841 « Unchanged i —a— ey

CAD-SW-00015110 17-843 & 17-843 " Unchanged
CAD-SW-00015107 17-845 & 17-845 + Unchanged Fed REGHE liaadad
CAD-SW-00015123 17-846 G 17-846 ' Unchanged Al Released DT-000913
CAD-5W-00015115 17-347 % 17-347 " Unchanged A Released DT-000912
CAD-SW-00015105 17-849 % 17-849 " Unchanged . Y Holoaced T
' < ’ A1 Released DT-000911
Total: 30 Mew: 0 Medified: 2 Unchanged: 23 A Released DT-000911
Al Released DT-000883
Revision Comment: Al Released DT-000883
‘. Al Released DT-000882
Al Released DT-000882
D Release lodk after Save .n"!'i.1 ReleﬂEed DT—UD{:‘B?T
Save Cancel Help A Relzased DT-000877

oy - W T oo =1 LT ooy 16'.1 |[‘| I'Iﬂlirﬂrk
G{ Gé L % C{ / @ BHCs<1> M5 X . e A Relsased DT-000910
a a _ ING E_.I'-_..'!':_h ."I WORK . BHCS 2 M5 K A 1 F'_ I |j DT U[II:}E‘]U
T  MOTO KHEE s == v g ' ks f
, @ BHCS<3> M5X ... 2 A Released DT-000910
Al
@ BHCs<4> M5 X . e A1 Released DT-000910
= B BHCs<s> M5 X .. - A1 Released DT-000910
@ BHCS<6> (M5 X .. e Al Released DT-000910
s BHC G« T= (ME % - = A Relagsed DT-000910
B e Lifecycle  Simulation View Tools AT Anngg
@@@%ﬁmhw&&@m ,
IFIN] [aSheet1 |[L Sheet2 | 1 | ™

SOLIDWORKS Under Defined  Editing Sheetl MMGSE - 2



S SOLIDWORKS  » D0 H- -5- - 5 8 §oy - MOTO KNEE - Sheet1 B search Mysolidworks a-@® @ - B 2 x

{N Eﬁ{ "’*\t} ﬁ A G ﬁ)‘ Balloon g/'- surface Finish Geometric Tolerance &4 Center Mark @
Dirir:r?gnn hr,lg:_:' ngs:ﬂ IESirr:?::: L LI”P‘;?EE::?E ,@ Auto Balloon  #P* Weld Symbaol @ Datum Feature L Bﬂ Centerline EIE Revision Cloud -

- - Sija Magnetic Line LiZ Hole Callout  §xr} Datum Target . [l nreavatensFin . -
Drawing | Annotation | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | PRESCER 4 ~,n 00 _ &2 x E 3DEXPERIENCE o) X
> ot Select a Bookmark
ﬁ’ Status Rev Is... Maturity State Enterprise ltem Number

MOTO KNEE ENOVIA Bookmark Editor - BioDapt Design - Projects (Demo Tenant) » = 2 A In Work
> [i) Blocks 2 A In Work
Annctations Proiects q EE )
Save to 3DEXA sl X B A1 Released DT-000917
* [ sheeti :

v [2] Sheet Format1 Title 14| Revision Maturity State | |s Last Revision | Lock Description Mo¢ Menu | £ Al Released DT-000917

» [@) Drawing Viewd G Hestabe o 4 N ES Export e A1 Released DT-000917
¥ | Sheet? - E_, A1 Released DT-000917

, I Marme Project 1000 Draft Jan s~ ’

r A DRwSwal £ A1 Released DT-000916

| SNy e CAD-SW-00 ;_, A Released DT-000915
* F Drawing Viewf
Ry Bil of Moteriols4 CAD-5W-01 d b Al Releazad DT-000915
_C\W- Project 2000 Diraft Jan
CAB-SH S ' i B A Released DT-000914
CAD-SW-0( -] :
e ¥ £ A1 Released DT-000914
CAD-SW-0( Ld ;_, A Released DT-000913
CAD-SW-0 ER A0 e Jan -~ R B A Released DT-000912
_ i ] | B A1 Released DT-000912
' % ’ L, Al Released DT-000911
Total: 30 Ne Project 4000 Draft Jan L,, A Released DT-000911
E‘, A1 Releasad DT-000883
Revision Comnj L,. A1 Released DT-000883
n =visig L, A1 Released DT-000882
g_, Al Released DT-000882
[Release lod L, A1 Released DT-000877
Help ;f, Al Released DT-000877
Bookmark  Document View Tools Lifecycle  Collaboration e ""L/ A1 In Work
— o 5 X .. A1 Released DT-000910
é Lissrow B &G : :

i N — - > M5 X ... 7, Al Releasad DT-000910
&pply to Selected Apply to Al MG X ... 7 A Released DT-000910
| '—m{luﬂﬁ ) =/ Al Released DT-000910
[N B BHCs<s> M5 X . - A1 Released DT-000910
@ BHCs<6> (M5 X .. e A1 Released DT-000910
s BHCS<7> M5 X s L s Released DT-000910
B e Lifecycle  Simulation View Tools AT Anngg

@@@%ﬁmhwﬁ&@m ,

IR [2iSheet1 |[& Sheet? | €3 | -

SOLIDWORKS Under Defined  Editing Sheetl MMGSE - 2



S SOLIDWORKS  » D0 H- -5- - 5 8 §oy - MOTO KNEE - Sheet1 B search Mysolidworks a-@® @ - B 2 x

{N Eﬁ{ "’*\t} ﬁ A G ﬁ)‘ Balloon g/'- surface Finish Geometric Tolerance £+ Center Mark @
Dirir:r?gnn hr,lg:_:' ngs:ﬂ IESirr:?::: L LI”P‘;?EE::?E ,@ Auto Balloon  #P* Weld Symbaol @ Datum Feature L Bﬂ Centerline EIE Revision Cloud -

- - Sija Magnetic Line LiZ Hole Callout  §xr} Datum Target 4l 1rea Hateh/Fill . -
Drawing | Annotation | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | PR 4 ~,n 00 _ &2 x E 3DEXPERIENCE o) X
> )

AT @ Component Name Status Rev Is... Maturity State Enterprise Item Number
MOTO KNEE || B MOTO KNEE 5 A A In Work
* L ks @ MOTOKNEE MOTOKNEE) (B A A1 In Work
Ll o . | a A1 Released DT-000917
¥ elease -
v [ sheett Save to IDEXPERIENCE pd

+ [ Sheet Format1 A1 Released DT-000917

b - iy Wi : Files to be saved, Mew files will be saved in collaborative space BioDapt Design. H Bookmarks E Export A Relzazad DT-000917
- | Sheet? -

h E: - o Mame Title Type  Display Mame Bookmark Save Status 2 i i inintiadi
i 5heet Forma

- | DRW-SW-00001730 MOTO KNEE 4 MOTO KMEE Project 1000 V0K Al Released DT-000916

| R | CAD-SW-00015120 MOTO KNEE ® 4 MOTO KNEE Project 1000 v 0K At Released DT-000915

* F Drawing Viewf

% e i L CAD-SW-00015104 17-340 % 17-340 +" Unchanged Al Relaaszed DT-000915
CAD-SW-00015119 17-841 & 17-841 ' Unchanged Y == e
CAD-SW-00015110 17-843 & 17-843 + Unchanged
CAD-SW-00015107 17-845 & 17-845 + Unchanged kel REGHE liaadad
CAD-SW-00015123 17-846 G 17-846 ' Unchanged Al Released DT-000913
CAD-5W-00015115 17-347 % 17-347 " Unchanged A Released DT-000912
CAD-SW-00015105 17-848 % 17-848 + Unchanged . A Released DT.000912
' i ’ A1 Released DT-000911
Total: 30 Mew: 0 Medified: 2 Unchanged: 23 A Released DT-000911
A1 Released DT-000883
Revision Comment: A Released DT-000883
‘.' A1 Released DT-000852
A1 Released DT-000852
[ Release lock after Save A Relzased DT-000877
Save Cancel Help A Relzased DT-000877
e - W llllll LT ooy vr .I'I!".T |n I'Iﬂlirﬂrk
G{ Gé L % C{ / @ BHCs<1> M5 X . e A Relsased DT-000910
a a CRAWING STATUS. M 'WORK .
e P B BHCS<2> M5X .. e A1 Released DT-000910
' A Rel d OT-000910
Yo /\\? s BHCS<3= (M5 X v elease
@ BHCs<4> M5 X . e A Released DT-000910
= B BHCs<s> M5 X .. - A1 Released DT-000910
@ BHCS<6> (M5 X .. e A1 Released DT-000910
s BHCS<7> (ME X I ¥ Ralsased DT-000910
Lifecycle  Simulation View Tools

[ T Ca Y N s T T f‘lﬂﬂﬂ.“ﬂ

@@@%ﬁmhwﬁ&@m ,

IFIN] [aSheet1 |[L Sheet2 | 1 | -

SOLIDWORKS Under Defined  Editing Sheetl MMGSE - 2



S SOLIDWORKS  » & 0O -F- - & - 58 §y - MOTO KNEE - Sheet1 [Read-only] B search mysolidworks Q- @® @ - B F x

{N é& "’*\t} g A Ly ﬁ: Balloon { Surface Finish Geometric Tolerance -f;i-} Center Mark @
Dins'lglr?gnn h;:s:_lil Criséliler E::ﬂ:: HE Llnngerjste ,g:\t Auto Balloon /7% Weld Symbaol Datum Feature e B: Centerline EIE Revision Cloud Tables
- - n@u Magnetic Line L& Hole Callout @ Datum Target - g Area Hatch/Fill - Y
Drawing | Annotation | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | PRPESCH © 00 _ &2 x B 3DEXPERIENCE ) %
> )
T4 ﬁ] Component Name Status Rev Is... Maturity State Enterprise Item Number
[ MOTO KNEE Vil C MOTO KNEE n, A1 In Work
»  [] Block
aidy -] [@ MOTOKNEE (MOTOKNEE) £, A1 In Work
Annotations el || ket [ e
s T @ FHCs<a> MEX1X1.. A1 Released DT-000917
bt eetl E 1 v g
b =] Sheet Format1 — - : ® rHes<:Mex1x1. £, Al Released DT-000917
» [@) Drawing Viewd N @ B rFHcs>Mmexix1. £, A1 Released DT-000917
¥ |zd Sheet2 Wl - [@ 17-853<1> (17-853) ®, A In Work
h . 10 1
i I N B renR(17-. S, A In Work
| a TS TN 17-833-L<2> (17 A In Work
2 Drawing Viewd T % it v 4 i ner
% Bill of Materialzd :r % 1?-838{1>{Leﬂ] =, A In Work
I B 17-838<2> Right = A1 In Waork
e @ 17-835<1> (17-835) e A1 In Work
' @& 17836<1>(1783) 5, A In Waork
@ 17-836<2> (17-836) =, Al In Work
J @ rFHes<t>Max0.. £, A1 Released DT-000909
@ rHcs<2>(maxo.. £, A1 Released DT-000909
@ BHCs<1> M5 X . =, A Released DT-000910
@ BHCs<2> M5 X .. =, Al Released DT-000910
@ BHCS<3> M5X .. e A1 Released DT-000910
@ BHCs<4> M5 X . e A1 Released DT-000910
@ BHCs<5> M5 X . =, A Released DT-000910
@ BHCs<e> (M5 X .. =, Al Released DT-000910
@ BHCS<7> M5X ... e, A1 Released DT-000910
[ @ sHCs<e> M5 X . = A1 Released DT-000910
@ rFHoes<:>(Maxo.. £, A Released DT-000909
_Z.'\.-'-'.-'.IIHI.': E'l’-_..'!':-“ ."I WORK
o SRR B rHes<asmaxo.. 2, Al Released DT-000909
T i @ rHes<s>Max0.. £, A Released DT-000309
i ATl
) S A i e @ rHes<e>(Maxo.. S, A1 Released DT-000909
[N @ rHos<>(Maxo.. £, A1 Released DT-000909
@ rHcs<e>(maxo.. Al Released DT-000909
% 17-840<1> (17-240) . A In Work
% T Lifecycle  Simulation View Tools |
[ % ‘ » = B =ﬁ £o3 I I—i} Ij S B ] 883 %

SOLIDWORKS Under Defined  Editing Sheetl =2 - MMGEE - e



% 1. DOCUMENT MANAGEMENT

SECURE CLOUD BASED FILE STORAGE FOR ALL PROJECT DATA

Y. COLLABORATION

¢

»>» DESIGN RELEASE

CHANGE MANAGEMENT

o

S SOLIDWORKS Y/ visiativ 5 2essawr



& The 3DEXPERIENCE platform x +

“— & @ 3ds.com/3dexperience
- o Eric ENGINEER o
3DEXPERIENCE | 3DDashboard Industry Innovator s Dermo Tenant - {‘} + » .:: ¥+
=) L My Tasks My Data ~ My Markups My Changes My Routes == =
ENOVIA - Bookmark Editor - BioDapt Design - Project 1000 (Demo Tenant ) e - 4 b B3 3DPlay - MOTO KNEE(MOTO KNEE) - . =
Projects P Project 1000 Q %
Title 13| Enterprise [tem Mumber | Description Revision Maturity State |s Last Revision | Lock Cnwner Menu
i MOTO KMNEE MOTO KMEE A In Work v Eric ENGINEER  »»
a + E MOTO KNEE(MOTO KNEE) MOTO KMEE A In Work v Eric ENGINEER  ~»
N L
== Project Specification A In Work v Eric ENGINEER  »~»~
i VF2 FOOT VF2 FOOT ASSEMBLY A Released v Eric ENGINEER, »~
) + VF2 Foot(VF2 Foot) DT-000918 VF2 Foot Assembly A Feleased ~ Eric ENGINEER  ~~
Bookmark  Document View Tools Lifecycle = Collaboration |~ View Tools IJ\K

»E 2 @ - O 9IPPPLow 0%



Eric ENGINEER

rd Industry Innovator W Demo Tenant

My Markups My Changes My Routes ==
oject 1000 (Demo Tenant ) OH = 11 ¥ 3DPlay - MOTO KNEE(MOTO KNEE)
* | Enterprise Item Number = Description Revision Maturity € Menu  MOTO KNEE(MOTO KNEE)A1 X A
Eric ENGINEER
!\ » *
MOTO KNEE Al In Work v » a u .‘0: Sig
MOTO KNEE A1 InWork |~ L =
- ‘ Eric ENGINEER v
@Sam SUPPLIER Can you review
A In Work Vv the design for assembly ease and
serviceability? %
Reply
VF2 FOOT ASSEMBLY A1 Released ~~ ‘

DT-000918 VF2 Foot Assembly Al Released







& The 3DEXPERIENCE platform x + s — et

“— c @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator s

=) L My Tasks My Data My Designs ~ == I =
ENOVIA - Product Structure Explore S — L1~ ENOVIA - 3D Navigate S — L1~
[= = | [= = |
Product Structure Recents 2z X 3D Navigate Recents 2z X
Explore

Access your work

Access your work @ Recents

@ Recents

Open Content Open Content



& The 3DEXPERIENCE platform x + s — et

“— c @ 3ds.com/3dexperience

=) L My Tasks My Data My Designs ~ == B  3DNotification Center L x
ENOVIA - Product Structure Explore & — R& = ENOVIA - 3D Navigate O — L1~ 1 Unread Notification Y &
mm nm
[= 1= | ] [= 1= |
Product Structure Recents a2z X 3D Navigate Recents a2z X
Eric ENGINEER mentioned you in a comment
Explore on MOTO KNEE(MOTO KNEE)
Access your work
Access your work @ Recents

@ Recents

Open Content Open Content



% The 3DEXPERIENCE platform X + v = X

< (%5 @ 3ds.com/3dexperience
ashboard Industry Innovator w am : y
975 f’;?\ IDEXPERIENCE | 3DDashboard Industry | Sam SUPPLIER (®) L -
30 if
V.R
E] ENOVIA - Properties - MOTO KNEE(MOTO KNEE) ? 8 C # X

MOTO KNEE(MOTO KNEE) A.1 &

Eric ENGINEER

: ; , 2 A Ry c: t o= ;
Properties #” Sharing ® View & change B comments "5, Relations N7 Derivedoutputs  B= Revisions




& The 3DEXPERIENCE platform x +

“— c @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard

Industry Innovator s

2021-SW-00045539

0 ~ Where

“ Source

> = Collaborative Spa. ..

othD

« Persons
Eric ENGINEER
United States
@ + When

Modification Date

» More tags

From: To:

Q %
Show all
1
1
1
?
w

Search results for "2021-SW-00045539" ;n" )4
1 Results | () 0= =~
Title Type Description Name Modification Date Creation Date Revision | |

1~ BMOTO KNEE(MOTO KNEE) Physical Product MOTO KNEE 2021-5SW-00045539 01/24/2022 1:55:41 PM 01/24/2022 9:35:26 AM A1 I



& The 3DEXPERIENCE platform x + s — et

“ & @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator s

=) L My Tasks My Data My Designs ~ == =
ENOVIA - Product Structure Explore - MOTO KNEE(MOTO KNEE) Y - - e ENOVIA - 3D Navigate - MOTO KNEE(MOTO KNEE) O - .1 ~
Title =nterprise ltem Mumber Description Po... | Revision Maturity State Cnwmer Spec... T Menu
T MOTO KNEE(MOTO KNEE) MOTO KNEE A1 @ =ic enaineeR v ©

Tools ¥ T,

T GDepe ¢RPe O fw/izi
|ﬁ‘i:] %' 'fl%f" %' i Ei| , o L= LLoadlngmmplete i - ! 3




# The 3DEXPERIENCE platform X +

< C
2~ &>

8@ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator »

DS 3 >

=) Se8 My Tasks My Data My Designs ~ ==
ENOVIA - Product Structure Explore - MOTO KNEE(MOTO KNEE) & = fa W
Title énterprise ltem Number Description Po... | Revision Maturity State Owner Spec...| = Menu
% @ MOTO KNEEMOTO KNEE) MOTO KNEE A1 @ =ic encineer v ©
+ € 17-er1017-871) FOX DPS SHOCKCYLI. Bl A1 @ =ic enGineeR 1 v @

DT-000877

P
&

ian

- @sxaacer(emsxzs) WASHER-8x16x25 B A1

| @BALL BEARING(S ID ... DT-000883 SKF BEARING #608-2...

@TRACK FOLLOWER(... DT-000911 YOKE TYPE ROLLER ... gk Al

+| @FHCS{MBX‘IXQL.” DT-000917 FHCS-M6X 1X12L0... QL A1

- @17-845(17-345; CLEVIS Q. A1 In Work

@.i
8 g
2 g

¥ @BHCS(mxo,sxw”.DT—000915 BHCSM5X08X10L.. Bl A1

ROD END Q. A1 In Work
¥ € 17-e7207-872) FOX DPS - ROD o A1
¥ € 17-e7a017-874) LOWER PIN B AT In Work
Y @ 17-846(17-846) BUSHING-CLEVIS13.. © A1
+ €PrHcsmex 1x 12 PT-000917 FHCS-M6X 1X12L0.. Bl A1
¥ §PeHcsme x 1253, DT-000912 BHCSM3X125X30 . ©[ A1
¥ & 17-sa7017-847) SHAFT-TRACK O Af
+| @PrHcsmex 1x 121 DT-000917 FHCS-M6X 1X1210.. Bl A1
- @17-899(17-399] LOWER BRACKET B A1
+ € 17-e62017-862) BRONZE BUSHING-1.. B[ A1 [ in Work |
1 View Tools
¥ §PerHcsms x 08 x 10 . DT-000915 BHCR 142 dascans. ' e

A | N0 % & & 20

‘ Eric ENGINEER

@ i encineer

@ i encineer
@ =ric encineer
@ ic encineer
@ =ic eneineer
@ cic enGineER
@ =ic enGineer
@ =icencineer
@ i encineerR
@ i encineer
@ cric encineer
@ £ic enoineer
@ =ic eneineer
@ cic enGineeR
@ =ic enGineer

' Eric ENGINEER

T~
Fl
17 ~
Bl
11 ~w
11
11 v
1 W
FI ~
B w
17 v
Fl ~
11w
17
Bl ~

ENOVIA - 3D Navigate - MOTO KNEE(MOTO KNEE)

fad

s

Tools

DLow &3P

v Loading compiete |1l

®- O-

5%

@4 A

Y @7

»”
/-
/

/ *_.

r"
Ld
¢



# The 3DEXPERIENCE platform

-

x +

(%) 8@ 3ds.com/3dexperience
AT,

3DEXPERIENCE | 3DDashboard Industry Innovator »

o >

V.R

=) My Tasks My Data My Designs v~ ==
ENOVIA - Product Structure Explore - MOTO KNEE(MOTO KNEE) & = fa W
Title :Enterprise [tem Number Description Po... | Revision 7 Maturity State Owner Spec. . | 8 Menu
-] @ MOTO KNEE(MOTO KNEE) MOTO KNEE A1 [ in work @ cic enGineER v © g

+ @ 17-er17-871) FOX DPS SHOCKCYL.. B A1 [ in Work | @ =ic enGineerR v @
+] @ Spacer@x16x25)  DT-000877 WASHER-8x16x25 O A1 Released @ =icenoineer s v @
+| @ BALLBEARING( ID ... DT-000883 SKF BEARING #6082 ©l A1 @ i encineerR B v ©
¥ @ TRACKFOLLOWER(... DT-000911 YOKETYPEROLLER .. @l Af Released @ i encineer T v @
+| @ FHCSMB X 1X 12L... DT-000917 FHCS-M6X 1X1210.. Bl A1 @ =ric encineer v @

s 17-845(17-845)

@ =3, Relations

n 17-845-FAIR ..

17-843(17-843)
17-872(17-872)
17-874(17-874)
17-846(17-846)
FHCS(M6 X 1X 12L...
BHCS(M8 X 1.25X 3...
17-847(17-847)

FHCS(M6 X1 X 12 L...

17-899(17-899)

BHCS(M5 X 0.8 X 10 ...

DT-000915

DT-000917

DT-000912

DT-000917

CLEVIS

FIRST ARTICLE INSPE...

BHCSM5X 08X 10L...

ROD END

FOX DPS - ROD

LOWER PIN

BUSHING - CLEVIS 13 ..

FHCS-M6X 1 X 12LO0O...

BHCS M8 X 1.25X 30 ...

SHAFT-TRACK

FHCS-M6X 1X 12LO...

LO\K{I‘I‘\ DDAODVCT

G0 % & & P

B[
2§
|
2§
o
ol
o
2§
o

View

Al

A1

Al

A1

Al

Al

Al

Al

Al

Tools

il

5
=
[
=

5
=
=)
=

' 1 i

=
H Bl E
- Y

in Work

§

I”

‘ Eric ENGINEER

i" Sam SUPPLIER
@ =ic enGineer
@ =icenoineer
@ i encineeR
@ i encineer
@ cric encineer
@ ic encineer
@ =ic eneineer
@ cic enGineeR
@ =ic enGineer

' Eric ENGINEER

B
11 ~
1 W
171 w
11 W
FI ~
Bl
11 w
Fl ~
171 ~

ENOVIA - 3D Navigate - MOTO KNEE(MOTO KNEE)

fad

s

Tools

DLow &3P

v Loading compiete |1l

®- O-

5%

@4 A

Y @7

»”
/-
/

/ *_.

r"
Ld
¢



& The 3DEXPERIENCE platform x + s — et

“ (4 @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator s

L ® X ) myTasks My Data My Designs ~ = =
ENOVIA - Product Structure Explore - MOTO KNEE{MOTO KNEE) O - - o ENOVIA - 3D Navigate - MOTO KNEE(MOTO KN... & - La a
Title =nterprise ltem Mumber Description Po... | Revision Maturity 51 Menu
- MOTO KNEE(MOTO KNEE) MOTO KNEE A R ® o
+ ‘ 17-871(17-871) FOX DPS SHOCK CYLI... @_L A b ®
+ ‘ Spacer(d x 16 x 2.5) DT-000377 WASHER -8x16x25 @J\ A A @
+ ‘ BALL BEARING(8 ID ... DT-0003833 SKF BEARING #608-2. . @J\ A Released T @
+ ‘ TRACK FOLLOWER(... DT-000911 YOKE TYFE ROLLER ... @J\ A A ®
+ ‘ FHCS(MG6 X1 X 12L... DT-000917 FHCS-MG6 X 1X12L0... @_L Al Released L ©
+ ‘ 17-845(17-845) CLEVIS Q. A1 “w @
+ ‘ BHCS(MS X 0.2 X 10 ... DT-000915 BHCSMS X 03X 10L... _@L A Released L @
+| @ 17-843(17-843) ROD END B A1 In Work “v @
+| @ 17-872(17-872) FOX DPS - ROD o A v ©
+| @ 17-874(17-874) LOWER PIN B A1 In Work v @
+| @ 17-846(17-846) BUSHING - CLEVIS 13 ... B A1 “vw ©
+ ‘ FHCS(MG X1 X 12L... DT-000917 FHCS-ME X 1X12L0... @J\ A Released o @
+ ‘ BHCS(MS X 1.25 X 3... DT-000912 BHCS M3 X 125X 30 ... @_L A v ®
+ ‘ 17-847(17-84T) SHAFT-TRACK Q. A1 v @
+ ‘ FHCS(ME X1 X 12 L... DT-000917 FHCS-MEB X 1X12L0... _@L A Released L @
"Ei Select
+| @ 17-899(17-899) LOWER BRACKET B Al In Work “v @
@ Exclude
+| @ 17-862(17-862) BRONZEBUSHING-1.. B A1 in Work [EEEVIEE  View Toos | T’
L Group +| @ BHCS(M5X 0.8 X 10 . DT-00097 __ LB S Released [IEEC A 4 |ﬁ‘i:] G' q%p p @v B - [ >
ﬁ‘i:] %' Ij%j' %' im — 0. 9 g i <
‘ | b LS | o




& The 3DEXPERIENCE platform x + s — et

“— & @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator s

L Q W& X =) myTasks My Data My Designs ~ == =
L3
v Selected Tags [ ENOVIA - Product Structure Explore - MOTO KNEE(MOTO KNEE) o — 5 ¥ ENOVIA - 3D Navigate - MOTO KNEE(MOTOKN... & — [1  ~
[]MakeDrEuy?X Title =nterprise [tem Mumber Description Po... | Revision Maturity State Menu
| @ MOTO KNEE(MOTO KNEE) MOTO KNEE A ®
o v Where ( ) v
+| [ 3 BUY ~
> Bookmark 1
: +| [ 3 MAKE ~
> Collaborative Space 1
+ :: Other L
» Engineering Workspace 1
e v Who
> Last Modified By 2
> Organization 1
> Owner 1
> Vendor 3
@ + When
> Creation Date 1
> Is Last Revision 1
> Modification Date 1
e v How
Make Or Buy? | . 2
View Tools ; T,
=T o A5 aDew P @ 8L
BUY ﬁ %' . %T i 0 . | P
: « ol ‘ o8 b = v 3

About 3DEXPERIEMCE platform erms of Use Privacy Policy + Cookies



& The 3DEXPERIENCE platform x + R — et

“ & @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator s

L Q & X 3  myTasks My Data My Designs ~ = =)
L3
v Selected Tags w ENOVIA - Product Structure Explore - MOTO KNEE(MOTO KNEE) O — L1 v ENOVIA - 3D Navigate - MOTO KNEE(MOTOKN... & — [1 v
L 2 Make Or Buy? X Title Enterprise ltem Mumber Description Po... | Revision Maturity State| Menu
_| @ MOTO KNEE(MOTO KNEE) MOTO KNEE Al @
0 v Where ( ) v
+| [ 3 BUY -
> Bookmark 1
E L 3 MAKE v
> Collaborative Space 1
+ @ 17-871(17-871) FOXDPS SHOCKCYLL... Bl A1 In Work v @©
» Engineering Workspace 1
+| @ 17-845(17-845) CLEVIS Bl A1 In Work v @©
e v Who +| @ 17-843(17-843) ROD END B A1 v @©
> Last Modified By 2 + @ 17-872017-872) FOX DPS - ROD Q. A1 v @
. : ®
> Organization 1 +] @ 17-874017-874) LOWER PIN o A1 In Work v
. 17-846(17-846) BUSHING-CLEVIS 13 .. @ A1 In Work ~ @
> Owner 1 © 2
+| @ 17-847(17-847) SHAFT-TRACK o Al ~ @
> Vendor 3
+ @ 17-899(17-309) LOWER BRACKET Q. Al ~ @
@ v When +| @ 17-862017-862) BRONZE BUSHING-1.. Bl A1 In Work ~v @
> Creation Date 1 + 17-853(17-853) FRAME ASSEMBLY A1 “w @©
Y Is Last Revision 1 +| @ 17-845(17-846) BUSHING - CLEVIS 13 ... B A1 ~ @
» Modification Date 1 +| @ 17-849(17-349) SPACER Q. A1 In Work v @©
+| @ 17-840(17-840) TOP PIVOT MOUNT . A1 In Work ~v @
e v How
+ @ 17-849(17-849) SPACER o Al In Work ~ @
Make Or Buy? | . 2 3 -
+| 4 Other e View Tools S T,
MAKE BT | ‘ |1Hr‘i:] G p @ 8 [ ‘
BUY ﬁ % . . % . P . d%b 1P
s 0 % & 9 (1 | Ll .

m
(]
I
T
T



ENOVIA - Properties - 17-841(17-841)

17-841(17-841) A1

Eric ENGINEER 1/24/2022, 8:00:04 PN

Properties  # ® a

conaporatve roucy Cuyniceinyg vemnuon
Modification Date 1/24/2022, 8:00:04 PM
Maturity in Work

Smar's Eric ENGINEER
Organization Company Name
Collaborative Space BioDapt Design
Locked By

Manufacturable/Procurable

Asm_Description g v
Finish Tk value

MakeOrBuy MAKE 1

Manufacturer ‘

Material

Titanium Ti-8Al-2.58n

Part_description




& The 3DEXPERIENCE platform x + s — et

“ & @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator s

s Q W& X =) myTasks My Data My Designs ~ < G
ENOVIA - Product Structure Explore - MOTO KNEE(MOTO KNEE) O - LA Pt ENOVIA - 3D Navigate - MOTO KNEE(MOTO KN... & - .1 ~
Title =nterprise ltem Mumber Description Po... | Revision Maturity State Menu
- E MOTO KNEE(MOTO KMNEE) MOTO KNEE A ~ ®
+| [ ] BUY -
+| [ 3 MAKE v

Tools

 Vew 3 !
eoSiasa . JaDeesapec




& The 3DEXPERIENCE platform x + s — et

“ & @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator s

s Q W& X =) myTasks My Data My Designs ~ < G
ENOVIA - Product Structure Explore - MOTO KNEE(MOTO KNEE) O - L2 e ENOVIA - 3D Navigate - MOTO KNEE(MOTO KN... & - La e
Title =nterprise ltem Mumber Description Po... | Revision Maturity State Menu F
- E MOTO KNEE(MOTO KMNEE) MOTO KNEE A ~ ®
+| [ ] BUY -
+| [ 3 MAKE v

M

Tools [0/ T’

eTiasa . Jibsesheeos




# The 3DEXPERIENCE platform X + v = X

B e 8@ 3ds.com/3dexperience

[775 ™) 3pEXPERIENCE | 3DDashboard Industry Innovator v
3

o >
S Q ‘@ X =) My Tasks My Data My Designs v - u 3DSwym Social Collaboration and Innovation ¥ X

r"

- v Eric ENGINEER

ENOVIA - Product Structure Explore - MOTO KNEE(MOTO ... &  — HE ENOVIA - 3D Navi... & —

Title =nterprise ltem Number Description Menu
= @ MOTO KNEE(MOTQO KNEE) MOTO KNEE L © 9
Bl s
5 B BUY v
7ol |
<3 MAKE v

Monday, January 24

Eric ENGINEER

Hi Sam

Sam SUPPLIER
| have a few ideas on the new Moto Knee - have a few @

minutes to catch up? —

Eric ENGINEER ﬁ

Sure, let's jump on a call and discuss

View Tools N _ T’

[P S A —

?%Vfwu%jm%; 2 o ‘klﬁ‘ ﬁ«%§| i‘

{nd

> a v o




# The 3DEXPERIENCE platform X + v = X

< C 8 3ds.com/3dexperience

"? Sam SUPPLIER. Eric ENGINEER

A

% The 3DEXPERIENCE platform X +

<« C @ 3ds.com/3dexperience

2 2 Eric ENGINEER
DS 30 ! i’ 3DEXPERIENCE | 3DDashboard Industry Innovator » Dt Ten

Wi My Data My Markups v~ My Changes

ENOVIA - 3D Markup - MOTO KNEE(MOTO KNEE)

(= ”

Markup MoToK... @O @ =

L |~

Markup  Annotations View Tools

BXh O RO L2 $9P0I® 0 4 %% 0

%=1 ' Loading complete Il




% The 3DEXPERIENCE platform x + N =) X

<~ G 8@ 3ds.com/3dexperience
s Sam SUPPLIER, Eric ENGINEER
- 4

% The 3DEXPERIENCE platform X +
& C 8@ 3ds.com/3dexperience

2 @D Eric ENGINEER
DS Lo 3DEXPERIENCE | 3DDashboard Industry Innovator » =E s

My Data My Markups v My Changes

E3 ENOVIA - 3D Markup - MOTO KNEE(MOTO KNEE)
O "

Markup MmoToK.. @ + =

Update Viewpoint

s

Markup Annotations View Tools N

BB RDe 2 3P LB 0 4 B % 20

®X: v Loading complete |l



2

% The 3DEXPERIENCE platform x + N =) X
& G 8@ 3ds.com/3dexperience
)

=D Sam SUPPLIER, Eric ENGINEER
SR

Z The 3DEXPERIENCE platform X +

< C 8 3ds.com/3dexperience
X
% >

Eric ENGINEER
Demo Tenant «
V.R e Y . ke CH AR
Ay Task My Data My Markups v My Changes

3DEXPERIENCE | 3DDashboard Industry Innovator w

3 ENOVIA - 3D Markup - MOTO KNEE(MOTO KNEE)

=3 A
= L3

Markup MoToK.. @ + =

Update Viewpoint

Markup = Annotations View Tools D

_ BRxh b AROB @A BE @ 4 O&



2

% The 3DEXPERIENCE platform x + N =) X
& G 8@ 3ds.com/3dexperience
)

=D Sam SUPPLIER, Eric ENGINEER
SR

Z The 3DEXPERIENCE platform X +

< C 8 3ds.com/3dexperience
X
% >

Eric ENGINEER
Demo Tenant «
V.R e Y . ke CH AR
Ay Task My Data My Markups v My Changes

3DEXPERIENCE | 3DDashboard Industry Innovator w

3 ENOVIA - 3D Markup - MOTO KNEE(MOTO KNEE)

1 A
= L3

Markup MoToK.. @ + =

Update Viewpoint

Markup  Annotations View

Tools A\

Bh B aROBI BE @72 O
X, ' Loading complete I




2

% The 3DEXPERIENCE platform x + N =) X
& G 8@ 3ds.com/3dexperience
)

=D Sam SUPPLIER, Eric ENGINEER
SR

Z The 3DEXPERIENCE platform X +

< C 8 3ds.com/3dexperience
X
% >

Eric ENGINEER
Demo Tenant «
V.R e Y . ke CH AR
Ay Task My Data My Markups v My Changes

3DEXPERIENCE | 3DDashboard Industry Innovator w

3 ENOVIA - 3D Markup - MOTO KNEE(MOTO KNEE)

1 A
= L3

Markup MoToK.. @ + =

:

Update Viewpoint

Replace 17-874(17-874) with a shoulder screw

s

Markup Annotations View Tools

BeLB RO @ B O

X v Loading complete 1l



% The 3DEXPERIENCE platform x + N =) X

G @ 3ds.com/3dexperience

) I

Sam SUPPLIER, Eric ENGINEER
e

# The 3DEXPERIENCE platform x +

(& 8 3ds.com/3dexperience

Eric ENGINEER .
3DEXPERIENCE | 3DDashboard Industry Innovator s Demo Tenant o 0 + ﬁ q )I?',

My Tasks My Data My Markups ~ My Changes =

E3 ENOVIA - 3D Markup - MOTO KNEE(MOTO KNEE) ENOVIA - Collaborative Tas...

Access your work Recents x
@ Recents

MOTO KNEE(MOTO KNEE) = G Markup_MOTO KNEE(MOTO KNEE) A1
Physical Product | A1 . Eric ENGINE % Eric ENGINEER | 1/24/2022, 8:33:48 PM

2021-5W-00045539 . DGMK-0000173

Customize your app




% The 3DEXPERIENCE platform x + N =) X

G @ 3ds.com/3dexperience

) I

Sam SUPPLIER, Eric ENGINEER
e

# The 3DEXPERIENCE platform x +

(& 8 3ds.com/3dexperience

Eric ENGINEER .
3DEXPERIENCE | 3DDashboard Industry Innovator s Demo Tenant o 0 + ﬁ q )I?',

My Tasks My Data My Markups ~ My Changes =

E3 ENOVIA - 3D Markup - MOTO KNEE(MOTO KNEE) ENOVIA - Collaborative Tas...

Access your work Recents x

@ Recents

To Do

MOTO KNEE(MOTO KNEE) g Markup_MOTO KNEE(MOTO KNEE) A1

Physical Product | A1 @ cicenent v~ [ % Eric ENGINEER | 1/24/2022, 8:33:45 PM

2021-SW-00045539 L DGMK-0000173 H Add '*'1% Design Changes

R 11252022 To Do

Customize your app




-
!+ DOCUMENT MANAGEMENT

SECURE CLOUD BASED FILE STORAGE FOR ALL PROJECT DATA

¥, COLLABORATION

INTEGRATED COMMUNICATION WITH POWERFUL DESIGN REVIEW TOOLS

»>» DESIGN RELEASE

CHANGE MANAGEMENT

o
|

S SOLIDWORKS Y/ visiativ 5 2essawr



? I o~
PSsoupworks | @ (O - % - - & : -8 & - MOTO KNEE.SLDASM [Read-only] Bl searcn mysoliaworks Q- @ @ - B P X
d [ala : L i o p P
2 = Q [ i 2 & (2 i EG) & W 9 &
Edit Insert Mate Component Linear Component Smart Move Show Assembly Reference Mew Bill of Exploded || Instantz3D Update Take Large
Component Components Preview Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
Window Components Study Subassemblies Settings -
- Sy Py <P i ¢ L2 JDEXPERIENCE
Assembly | Layout | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | PLAPAR - ©-v- 8- e

o & >

CARERRE
?v
@ MOTO EMEE (MOTO KMEE)
g History
Sensors
k Annctations

|ﬂ Front Plane

|E| Top Plane

[1] Right Plane

L Origin
v {8 17-853<1> (FRAME ASSEMBLY)
v {8y 17-840<1> (TOP PIVOT MOUNT)
v €8 17-845¢<1> (CLEVIS)
v By 17-843<1> (ROD END)
v €8 17-862<1> (BRONZE BUSHING - 10|
v {8y 17-847<1> (SHAFT-TRACK)
vy 17-846<1> (BUSHING - CLEVIS 13 ID
v {8y 17-846<2> (BUSHING - CLEVIS 131D
v €8 17-849<1> (SPACER)
v {8y 17-849<2> (SPACER)
vy 17-871<1> (FOX DPS SHOCK CYLIDE
v €@ 17-872<1> (FOX DPS - ROD)
v TRACK FOLLOWER<3> (VOKE TYPE
vl TRACK FOLLOWER<2> (YOKE TYPE
v B BALL BEARING<5> (81D x 22 OD X 7
v By BALL BEARING<6> (81D x 22 OD X 7
b €0y 17-899<2> (LOWER BRACKET)
v By () 17-874<2> (LOWER PIN)
v B 17-841<1> (4 HOLE PYRAMID)

J ﬁ Hardware

(-} 17-900<1> (17-9

L4 @@ Mates
r EE DervedHolePattern?

| *lsametric

- Hlil| SN0

<
[ F[H] Model | Motion Studyl1 |

To Do

= B3 1262022

. n Work

I — m = |
=

SOLIDWORKS

Under Defined

Editing Assembly

MMGS - @



Sssoupworks » Y D - ¥ - -8 - v - lS v} ] S - MOTO KNEE.SLDASM [Read-only] B searchmysotiaworks Q- @ @ - B &F X
® B S &R @ ©® @ ® @ B o R W ®
Edit Insert Mate Component Linear Component Smart Move Show Assembly Reference New Bill of Exploded |Instant3D Update Take Large
Component Components Preview Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
Window Components Study Subassemblies Settings s
Assembly | Layout | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | SPEQAPR - §-v-SR-T- = « 3DEXPERIENCE £y X
o LY v . % —
@ B ¢ e » o
v A ) a2t
¢ il S @ v §
¢ MOTO KNEE (MOTO KNEE) = m—
" [ Hitoy To Do Q
Sensors O
L Annotations Priority
-4 ,—r_—' r
l:i:| Front Plane @ ‘ = ﬂ’ ; {}
[_;_I Top Plane —J
[1] Right Plane Maturity State
L, Origin In Work v

» & 17-853<1> (FRAME ASSEMBLY)
v &8 17-240<1> (TOP PIVOT MOUNT)

v @ 17-845<1> (CLEVIS)
» @& 17-843<1> (ROD END)

» @@ 17-862<1> (BRONZE BUSHING - 101
v &8y 17-847<1> (SHAFT-TRACK)

v @ 17-846<1> (BUSHING - CLEVIS 131D
» @ 17-846<2> (BUSHING - CLEVIS 13 ID

v & 17-849<1> (SPACER)
v €8 17-849<2> (SPACER)

4 % 17-871<1> (FOX DPS SHOCK CYLIDE

» {8 17-872<1> (FOX DPS -
» & TRACK FOLLOWER<3>
» &) TRACK FOLLOWER<2>

» Q) BALL BEARING<5> (81D x 220D X 7
» & BALL BEARING<6> (81D x 22 OD X 7

ROD)
(YOKE TYPE
(YOKE TYPE

> [€3 17-899<2> (LOWER BRACKET) |

» @ (-) 17-874<2> (LOWER
» @8 17-841<1> (4 HOLE PY
» [ Hardware

(-} 17-900<

1> (17-800)

v

@[Iﬂ Mates
L EE DerivedHolePattern1

PIN)
RAMID)

*lsometric

<
N7 1] Model [ Motion Study 1 |

Percent Complete

10%

Actual Start

Tue, Jan 25, 2022

Planned End

Wed, Jan 26, 2022

@ Fixed « Fixed
Estimated Duration +/-
1 Days v 0
Attachments I+
. MOTO KNEE(MOTO KNEE) v
» Markup_MOTO KNEE(MOTO KNEE) A.1 v J
& Preview B
Deliverables @
X Remove

Modified
Tue, Jan 25, 2022

Repository for File Upload

3 OpenWith >

Close

SOLIDWORKS

Under Defined  Editing Assembly

MMGS



Sssoupworks » Y D - ¥ - -8 v - lS v} ] S - MOTO KNEE.SLDASM [Read-only] B searchmysotiaworks Q- @ @ - B &F X

d @G 77 i LT = Ot s @ i [
2 S E BE & @ & i ¥ B/ & 2 A7 @ @
Edit Insert Mate Component Linear Component Smart Move Show Assembly Reference New Bill of Exploded |Instant3D Update Take Large
Component Components Preview Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
Window Components Study Subassemblies Settings s
Assembly | Layout | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | LPHLAB - P-v-OR-T- a0 _ & x K 3DEXPERIENCE TR

ENOVIA Collaborative Tasks - Priv... N

@ =5 ¢ e >
?.
{§ MOTO KNEE (MOTO KNEE)
4 History
@Sensors

> Annotations

[EI Front Plane

Markup_MOTO KNEE(MOTO KNEE) A.1 &

€feunlep

[1] Top Plane

[ﬂ Right Plane

],_ Origin
» & 17-853<1> (FRAME ASSEMBLY)
» &8y 17-840<1> (TOP PIVOT MOUNT)
v @& 17-845<1> (CLEVIS)
» & 17-843<1> (ROD END)
» @ 17-862<1> (BRONZE BUSHING - 101
v &8y 17-847<1> (SHAFT-TRACK)
» @ 17-846<1> (BUSHING - CLEVIS 131D
» @ 17-846<2> (BUSHING - CLEVIS 13D
v @8 17-849<1> (SPACER)
v &8y 17-849<2> (SPACER)
» @ 17-871<1> (FOX DPS SHOCK CYLIDE
» & 17-872<1> (FOX DPS - ROD)
» &8 TRACK FOLLOWER<3> (YOKE TYPE
» ) TRACK FOLLOWER<2> (YOKE TYPE
» B BALL BEARING<5> (81D x 22 OD X 7
» & BALL BEARING<6> (81D x 22 OD X 7
> |3 17-899<2> (LOWER BRACKET) |
v @B (-) 17-874<2> (LOWER PIN)
» &8 17-841<1> (4 HOLE PYRAMID)

» [ Hardware
(-) 17-900<

Replace 17-874(17-

‘‘‘‘‘‘‘‘

15
1> |

v

lm@ Mates
L EE DerivedHolePattern1

iA" View Tools |\ X_T
< > | *1sometric % );(Li" EAb‘I}Abt; % .'.: p (%) e, @ - @ ?".‘w [—_—H

N7 1] Model [ Motion Study 1 |
SOLIDWORKS Under Defined  Editing Assembly MMGS «




Sssoupworks » Y D - ¥ - -8 v - lS v} ] S - MOTO KNEE.SLDASM [Read-only] B searchmysotiaworks Q- @ @ - B &F X

é PV , : o : o % ? ] '
2 P N 7] [ B2 @b 1] fil By & o [\ ®
Edit Insert Mate Component Linear Component Smart Move Show Assembly Reference New Bill of Exploded |Instant3D Update Take Large
Component Components Preview Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
Window Components Study Subassemblies Settings s
Assembly | Layout | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | PHELPABR T -»- S - - 00 _ & x [ 3DEXPERIENCE 63
—= ENOVIA Collaborative Tasks - Priv.. v N
@ Bl | & ° o
V- il Markup_MOTO KNEE(MOTO KNEE) A.1 &
¢ MOTO KNEE (MOTO KNEE) =
4 History
[2) Sensors @
» Annotations
e
[_;_I Front Plane @
A4
[_;_I Top Plane
- >
[;1 Right Plane
L. Origin

» & 17-853<1> (FRAME ASSEMBLY)

» &8y 17-840<1> (TOP PIVOT MOUNT)

v @& 17-845<1> (CLEVIS)

» & 17-843<1> (ROD END)

» @ 17-862<1> (BRONZE BUSHING - 101
v &8y 17-847<1> (SHAFT-TRACK)

» @ 17-846<1> (BUSHING - CLEVIS 131D
» @ 17-846<2> (BUSHING - CLEVIS 13D
v @8 17-849<1> (SPACER)

v &8y 17-849<2> (SPACER)

» @ 17-871<1> (FOX DPS SHOCK CYLIDE
» & 17-872<1> (FOX DPS - ROD)

» &8 TRACK FOLLOWER<3> (YOKE TYPE
» ) TRACK FOLLOWER<2> (YOKE TYPE
» B BALL BEARING<5> (81D x 22 OD X 7
» & BALL BEARING<6> (81D x 22 OD X 7
> |3 17-899<2> (LOWER BRACKET) |

v @B (-) 17-874<2> (LOWER PIN)

» &8 17-841<1> (4 HOLE PYRAMID)

[ Hardware
(-) 17-900<

Replace 17-874(17-874)with a shoulder screw

a4

‘‘‘‘‘‘‘‘

15
1> |

v

lm@ Mates
EE DerivedHolePattern1

g

A - -
£ > | *Isometric % @'|Ab’ % %1 p (é) gv @' @ 3'*_. [———H

N7 1] Model [ Motion Study 1 |
SOLIDWORKS Under Defined  Editing Assembly MMGS «




7S SOLIDWORKS a0 -8 - - - B3 - MOTO KNEE.SLDASM [Read-only] Bl searchmysotiagworks Q- @ @ - B &2 X
‘B B S BE & 2 @ 7 B & W i\ @
Edit Insert Mate Component Linear Component Smart Move Show Assembly Reference New Bill of Exploded |Instant3D Update Take Large
Component Components Preview Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
% Window 2 - Components < = Study = Subassemblies Settings "
Assembly | Layout | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | PRELAB P-v-OR-3- a0 . = x I8 3DEXPERIENCE TR
SIEEIE IR A
- @ Component Name Sta@ Rev Is... Maturity State Enterprise item Number
@ MOTO KNEE (MOTO KNEE) = @ MOTO KNEE (MOTO KNEE) -7 A1 In Work
> [ ey +| [@ 17-853<1> (17-853) * A1 In Work
, :::tr:ﬁons @ 17-840<1> (17-840) % A1 In Work
[1] Front Plane B 17-845<1> (17-845) - A1 In Work
[1] Top Plane @ 6 17-843<1> (17-843) e A1 In Work
[1] Right Plane B 17-862<1> (17-862) 8 A1 In Work
’ L. origin @ 17-847<1> (17-847) > A1 In Work
y gligj;i :'Fr?)?:i/gismmjn @ 17-846<1> (17-84p) % A1 In Work
b @@ 17-845¢1> (CLEVIS) B 17-846<2> (17-845) > A1 In Work
» @@ 17-843<1> (ROD END) e 17-849<1> (17-849) = A1 In Work
» @ 17-862<1> (BRONZE BUSHING - 101 B 17-849<2> (17-849) % A1 In Work
> @ 17-847<1> (SHAFT-TRACK) B 17-871<1> (17-871) > At In Work
; %17-846<1>(BUSHING-CLEVIS13|D 6 17-872<1> (17-872) %/ A1 In Work
: E::z:i ESE:IENR;S R @ TRACKFOLLOWER<S> (. &, A1 Released  DT-000911
» % 17-849<2> (SPACER) % TRACK FOLLOWER<2> (... 7 A Released DT-000911
» &8 17-871<1> (FOX DPS SHOCK CYLID @ BALLBEARING<5> (31D .. > A1 Released DT-000883
» % 17-872<1> (FOX DPS - ROD) 6 BALL BEARING=<6> (8 ID ... =/ Al Released DT-000883
> &9 TRACK FOLLOWER<3> (YOKE TYPE @ 17-899<2> (17-899) . A1 In Work
£ -Cpiisias = i ® rers (7 S £ A e
» €@ BALL BEARING<6> (81D x 22 OD X7 B 17euc>(17840) \/ Al ki
» | 17-899<2> (LOWER BRACKET) | @ BHCcs<2> Mex125x20.. S, A1 Released DT-000882
» & (-) 17-874<2> (LOWER PIN) @ BHcs<> Mex125x20.. A1 Released DT-000882
> @ 17-841<1> (4 HOLE PYRAMID) @ BHCs<4> MeXx125X30.. S, A1 Released DT-000912
" Mt @ BHcs<s> Mex125x30.. S, A1 Released DT-000912
’ Iﬂ‘ﬂ Males @ sHes<:>Msx08X12.. £, Al Released DT-000913
» [m DerivedHolePattern1 % Spacer<1> (8 x 16 x 2.5) 7 Al Released DT-000877
% Spacer<2> (8 x 16 x 2.5) v A Released DT-000877
&\ @ BHcs<6> Mex125x55.. S, A1 Released DT-000914
2 6 BHCS<7> (M8 X 1.25 X 55... > A Released DT-000914
‘J\ @ BHCs<e> (M5X02x 10 —h A1 Doloased DT-000915
z X s BHCS<--aar-sv.a Lifecycle Snmulatlon View N/ nT.000915
< > | *1sometric B suss< (@ ‘ GDC @ i ~'r - -@ {{)} R [000sts v
W77 Model [ Motion Study T | ‘ 3

SOLIDWORKS Under Defined  Editing Assembly MMGS «



p . <
DS SOLIDWORKS ¥ a0 -8 - - s - 8 3 ~ MOTO KNEE.SLDASM [Read-only] B search Mysolidworks Q- ® @ - B P X
£ '-'- [:D .‘ ¥ a\ = 9 t "7 w I [
B S E BE & @ & il W@ B/ & R Y @ @
Edit Insert Mate Component Linear Component  Smart Move Show Assembly Reference New Bill of Exploded |Instant3D Update Take Large
Component Components Preview Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
Window Components Study Subassemblies Settings A
Assembly | Layout | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | PHEQLABR §-»- SR -3- a0 _ &

@ BE B e e >
-
@ MOTO KNEE (MOTO KNEE)
4 @ History
@ Sensors
» Annotations

IEI Front Plane

[1] Top Plane
(1] Right Plane
]:_;, Origin
» & 17-853<1> (FRAME ASSEMBLY)
» @& 17-240<1> (TOP PIVOT MOUNT)
» @@ 17-845<1> (CLEVIS)
» @ 17-843<1> (ROD END)
» @ 17-862<1> (BRONZE BUSHING - 101
v &G 17-847<1> (SHAFT-TRACK)
v @ 17-846<1> (BUSHING - CLEVIS 131D
v @ 17-846<2> (BUSHING - CLEVIS 131D
v @ 17-849<1> (SPACER)
v &8y 17-849<2> (SPACER)
» @ 17-871<1> (FOX DPS SHOCK CYLIDE
» @@ 17-872<1> (FOX DPS - ROD)
» &8 TRACK FOLLOWER<3> (YOKE TYPE
» &8 TRACK FOLLOWER<2> (VOKE TYPE
» B BALL BEARING<5> (81D x 22 0D X 7
» B BALL BEARING<6> (8IDx 22 0D X 7
> |3 17-899<2> (LOWER BRACKET) |
» & (-) 17-874<2> (LOWER PIN)
» @ 17-841<1> (4 HOLE PYRAMID)
» Hardware
(=) 17-800<

1> (17-900)

» @@ Mates
’ EE DerivedHolePattern1

€feunlep

@ NON-SPORT
KNEE(MOTO KNE..

B 17-899 | A1
In Work

0
~7ey

s 17-899(17-899) |
A.1]In Work

v

34
¥
|
ZA_ @ MOTO KNEE(
MOTO KNEE) | A...

& ? | *lsometric
N7 7] Model | Motion Study 1 |
SOLIDWORKS Under Defined  Editing Assembly MMGS - &



B & - MOTO KNEE - Sheet1 [Read-only] B search MySolidworks Q- @ ® - B F x

Surface Finish Geometric Tolerance Eﬂ {':b} Center Mark @
Weld Symbol @ Datum Feature EROCRS BE Centerline £.3 Revision Cloud s
Hole Callout @ Datum Target . ' Area Hatch/Fill - A
Sheet Format &' ) § — E—
PERECal -+ B Q0 - F X

ENOVIA MySession - BioDapt Design (D... w %

Component Name Status Rev Is... Maturity State Enterprise ltem Number

A1 In Work =
A1 In Work

A1l In Work

Al In Work

A1 In Work

A In Work

Al In Work

Al In Work

Al In Work

Al In Work

Al In Work

A1l In Work

Al In Work

A1l In Work

A1 In Work

A1l Released DT-000909
A1l Released DT-000909
A1l Released DT-000909
A1l Released DT-000909
A1l Released DT-000909
Al Released DT-000909
FHCS<7> (M4 X 0... A1 Released DT-000909
FHCS<8> (M4 X 0... A1 Released DT-000909

NI 4 /AAF ) " A 4 N P o o NT ANNCAN

2 MOTO KNEE

AANTNA VNCT IAANTN VNEE)

¢E¢ Expand all
- Collapse all

8 Save |

ICACE IO - 13 D ¢ 12 00 ) 23 LONG ’

; —— - f;‘} Save with Options

g

mes .o [ erecesemen

- PARTRLAEER QeECHFICN

PEAME ANSENER 7
! TOR P IRoUNT
GARYYE

POOEND

EMenler

BUENG - CLEVIE 120 18 20 Y LIS LONG

Faom )

3 -

3 1 FOU DS SHOON CYLEDee

7 1 FOX 098 - WD @ LOCk
3

oracgety YOME TPPE BCLLERN FULLOWES . D4 RS B

- >
TTACOND | 0 WA NG 006 RS ?\9 MatU”t)’

LOwE R IRATY
3 ] L k™

3 ] 1 HOLE PYRAN D & * Ne\’l' ReViSion

Hi s _ mscoacn sl
© resior
T P 17-838<1> (Left)
e e 17-838<2> (Right)
17-835<1> (17-835)

17-836<1> (17-836)
17-836<2> (17-836)
FHCS<1> (M4 X 0..
FHCS<2> (M4 X 0..
FHCS<3> (M4 X 0..

(

(

(

FHCS<4> (M4 X 0...
FHCS<5> (M4 X 0...
FHCS<6> (M4 X 0...

PHHUHPUHGHLHeey

Lol ol ol ol ol ol ol ol ol ol ol ol o

LRANTG STATUS IN WORK




, )t;} B & - MOTO KNEE - Sheet1 [Read-only] sarchMysolidworks Q| @ @ - B & X
Surface Finish GeometricTolerance [543 Center Mark &5
Weld symbol (Al Datum Feature Blocks M3 Centerline {13 Revision Cloud | 12P'eS
Hole Callout  §&p Datum Target - 2l reea atanrin - =
hetfort| pESECRU-+-H 90 - & x ’
@‘ ENOVIA MySession - BioDapt Design (D
@ Component Name Status Rev Is.. Maturity State Enterprise item Number
| - MOTO KNEE ®, g A1+ InWork -
: MOTO KNEE (MOTOKNEE) -, . A1 +  InWork
F o ] I g 17-847<1> (17-847) - ' OAT In Work
' o B 17-843<1> (17:843) S A1 In Work
‘ ;'j{';'“ NOXWoLS M “ ‘ 17-846<1> (17-846) o/ A1l In Work
e o — © 17-849<2> (17-849) - A1 In Work
e ".;"..,“’ @ 17-846<2> (17-846) — A1 In Work
2 — TN -] @ 17-853<1> (17-853) e, A1 In Work
; L :*M;?ZD;; ‘ 17-833-R<1> (17-... ~/ A1l In Work
3 N BT e ® s> £, A1 In Work
; 5 e s B 17-838<1> (Left) ) A1 In Work
B 17-838<2> (Right) X A1 In Work
B 17-835<1>(17-835) 5 A1 In Work
© 17e6<1>(1783) L, A1 In Work
© 17862 (1783) =, A1 In Work
® rFHcs<>maxo.. 2, A1 Released DT-000909
® rHcs<e> maxo.. L, A1 Released DT-000909
® rFHcs<>Maxo.. L, A1 Released DT-000909
‘ FHCS<4> (M4 X0.. %, A1 Released DT-000909
@ rHes<s> maxo.. £, A1 Relegsed DT-000909
© rHcs<e> maxo.. 2, A1 Release{ poeaseq |T-000909
@ rFHcs<>Maxo.. 2, A1 Released DT-000909
‘ FHCS<8> (M4 X 0... \/ A1 Released DT-000909
audmia STATUS: IN WORK @B cime o e w o~y . o e mmean




B & - MOTO KNEE - Sheet1 [Read-only] B search MySolidworks Q- @ ® - B F x

Surface Finish GeometricTolerance ~ [gf] €3 Center Mark 53|
weld symbol (Al Datum Feature Blocks M3 Centerline {13 Revision Cloud | '2P'eS
Hole Callout  §&p Datum Target - 2 reea atarin - =
hetfort| pESECRU-+-H 90 - & X
% Component Name Status Rev Is.. Maturity State Enterprise item Number
=) E Eﬂ 6.?.6. -E.x.p“a-n-d-all =4 | SRt o -
=S| 8 Collapse al NEE) V & A1 + In Work
= B T;‘:’:tt:u..,.,.,_., 8 Save ) . ‘/ A1 In Work
B S : @ Q Save with Options ) ~/ Al In Work
= @ sworcten ) T AT s
i @R Lock ) = Al o Work
l = 5’:&5&:3"""7“"" & Reivad fom Sever- | ~d A oo
: =;L::;: §q Replace by Revision ) e A in Work
R g to} Maturiy - B
e [ NewRevison | W o .
e B ropoiee D B A v
& 'r-ovoszr raght) % A1 In Work
© 1783<1>(17835) L, A1 In Work
© 17-836<1>(1783) £, A1 In Work
© 17836<2>(1783) L, A1 In Work
@ rHes<> maxo. >/ A1 Released DT-000909
® rHcs<e> maxo.. L, A1 Released DT-000909
® rFHcs<>Maxo.. L, A1 Released DT-000909
@ rHes<e>-maxo.. £, A1 Released DT-000909
@ rHes<s> maxo.. £, A1 Released DT-000909
‘ FHCS<6> (M4 X 0... " Al Released DT-000909
@ rHes<>maxo.. 2, A1 Released DT-000909
@ rHcs<e>Maxo.. L, At Released DT-000909
DRAWING STATUS: IN WORK B s R ) b e P T s CNNT AAAOAN




7S SOLIDWORKS ¥ D0 H- -5- - 5 8 §0y ~ MOTO KNEE - Sheet1 [Read-only] B search mysolidworks a-@® @ - B 2 x

{N Eﬁ{ "’*\t} ﬁ A G ﬁ)‘ Balloon g/'- surface Finish Geometric Tolerance £+ Center Mark @
Dirigsgnn hr,lg:_:' ngs:ﬂ IESirr:?::: L LI”P‘;?EE::?E ,@ Auto Balloon  #P* Weld Symbaol @ Datum Feature L Bﬂ Centerline EIE Revision Cloud -
- - n@ijﬂ Magnetic Line LiZ Hole Callout  §xr} Datum Target . [l nreavatensFin . -
Drawing | Annotation | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | SPRAZC @ n 90 _ & X
> D
T4 il | Component Name Status Rev Is... Maturity State Enterprise ltem Number
AT i B MOTO KNEE B/ A1 +  InWork
* L ks .| @ MOTOKNEE (MOTOKNEE) &, A1 +  InWork
Annotations n _ e A1 In Work
n |:| Sheeﬂ | :\'Jl:"r! ,.';;;L);,'E“, ESCRETIN | — 6 1?-84?‘:1} {1 ?-8-"1-?) \f - n ar
3 |:| Sheet Format] Replace by Revision X Al In Work
k Drawing Viewd 4 Al In Work
v |l | Sheet? MO TO KN EE AZ = A In Waork
J | Sheet Format2 7 A In Work
k Drawing View5
. —, . A1 In Work
ko Drawing Viewd L\} a g G E_ v
. ; (16) Al In Work
% Bill of Matenals4 : ; : : : : gr o
. Graph ¥ Tiile Revi... ¥ Maturity Creation Date ¥ Modification Date Description A In Work
e g v -
U ’ ] & MOTO KNEE A2 In Work 1/26/2022, 2:47:56 PM  1/26/2022, 2:47:59 PM  MOTO KNEE 4 Fed o Wk
@//@z ‘ > A1 In Work
Of# 7 A In Work
:| €3 </ Al In Work
€2 . A In Waork
3DEXPERIENCE PLM Services | pojoaced DT-000909
Status refreshed
Released DT-000909
A Relzased DT-000909
A Relzased DT-000909
Al Relzased DT-000909
ok Cancel | s A Released DT-000909
"z . 7 A Released OT-000909
G{ g Gé @/ @ rHcs<e>(Maxo.. £, A Released DT-000909
ORENTHG STATUS: IN WOGRK i
T T — B BHCs<t>M5X .. - A1 Released DT-000910
- : @ BHCs<2> M5 X .. e At Released DT-000910
T
@ BHCS<3> M5X ... e A1 Released DT-000910
@ BHCs<4> M5 X . 2 A1 Released DT-000910
[N @ BHCS<S> M5 X N A Released DT-000910
B BHCS<6> (M5 X .. e Al Released DT-000910
s BHCS<7> (M& X - ok A1 Released DT-000910
B ourc . oo Lifecycle  Simulation View Tools N AT ARG
v ﬂ@"ﬁﬁ%ﬁ%hﬁﬁ&@ ¥
W] [Sheet1 [T Sheet? | [ [ : :
A -

SOLIDWORKS Under Defined  Editing Sheetl MMGSE - 2



S SOLIDWORKS  » D0 H- -5- - s 8 oy ~ MOTO KNEE - Sheet1 [Read-only] B search mysolidworks Q- @ @ - B F x

"™ & A o2 A s D Balloon o/ Surface Finish Geometric Tolerance £4F Center Mark i
Dins'lglr?gnn r'l‘l':r?'lil Criséliler E::ﬂ:: . Linngerjste ,@ Auto Balloon 7% Weld Symbaol Datum Feature Blocks B: Centerline EIE Revision Cloud Tables
= — n@ﬂ Magnetic Line L& Hole Callout @ Daturm Target d Area Hatch/Fill - ~
Drawing | Annotation | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | PREAGC s E a0 _ 2 x K 3DEXPERIENCE B
> i)
\é il | Component Name Status Rev Is... Maturity State Enterprise ltem Number
MOTO KMEE = In Work
» [&] Blocks
Annutatiuns TN oy | EMGHEERSE: prrm— @ ‘ . in Work
« [ shest! T - A, SHSS<1> (M6x2 X 30 ... = A1 Released DT-000916
v [2] Sheet Format1 T % BHCS=9= (M5 X 0.8 X... 7 A Released DT-000915
b Drawing‘-ﬁw.-ﬂ ;.: : — @ % BHCS<7> (M8 X 1.25 ... e Al Released DT-000914
™ L Sheet2 ik @ sHes<a> Msx08X. S, A Released DT-000913
" LRI Shect Fownaiz T @ Spacer<t>(8x16x25 5, A1 Released DT-000877
k Drawing View5 EE
" i Wit L] % Spacer<2> (8 x 16 x 2.5) < A Releasad OT-000877
By Bill of Materialsd ; @ BHCs<6>MeX125.. 2, A1 Released DT-000914
e B FHcs<-exi1xt1. £, A Released DT-000917
A % BHCS<8> (M5 X 0.8 X... = Al Released DT-000915
' % 17-846<2> (17-846) ) A1 In Work
B 17-874<2> (17-874) S/ A1 In Work
} % TRACK FOLLOWER<... v A1 Released DT-000911
@ 17-849<2> (17-849) = A1 In Work
% 17-871<1> (17-871) > A1 In Work
B 17-849<1> (17-849) S/ A1 In Work
% BALL BEARING<5> (8... 2 A1 Released DT-000833
% BALL BEARING<6> (8... = A1 Released DT-000883
% 17-872<1> (17-872) ) A1 In Work
(%) 17-893¢2> (17-899) S/ A1 In Work
% Tmcﬂ”-ﬂﬁm} '11T~3993-| > At Released DT-000911
@ 17-841<1> (17-841) = A1 In Work
% BHCS<2> (M8 X 1.25 ... > A1 Released DT-000882
e e @ BHCes<>mex125.. %, At Released DT-000882
— % BHCS<5> (M8 X 1.25 ... > A1 Released DT-000912
— % BHCS<4> (M8 X 1.25 ... = A1 Released DT-000912
EN [0 [@ 17-853<1> (17-853) ) A1 In Work
B 17-833-R<1> (17- e, Al In Work
B 17-633-L<22017- . A1 In Work
PP Lifecycle  Simulation View Tools L
e 3 £
W] CaSheet! [[5 Sheet? [ 0 | — @' ‘Eﬂ Y| [_1 :ﬁ = IE[?' I-i]: I_E]J (&> 2 ] ; vl

SOLIDWORKS 595.337mm  167.509mm  Omm  Under Defined  Editing Sheet] 1=2 - MMGE - e



,775 SOLIDWORKS » AN "B 8- - q > v{ 3] 5y - MOTO KNEE.SLDASM Bl search Mysolidworks Q- @ ® - B P X

BN BE & 2 @ 7 B & 2 i\ @
Insert Mate Linear Component Smart Move Show Assembly Reference New Bill of Exploded |Instant3D Update Take Large
Components Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
o 2 2 Components < = Study = Subassemblies Settings A
Assembly | Layout | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | a0 _ o x K 3DEXPERIENCE B
@B B[e[ €] > A
- m Component Name Status Rev Is... Maturity State Enterprise item Number
@ MOTO KNEE (MOTO KNEE) T NE @ MOTO KNEE (MOTO KNEE) 2 2 A In Work
&' s -] [@ 17-853<1> (17-853) B, A1 In Work
Sensors O ’
= , @ 17833R<1>(17833R) %, A1 In Work
L Annotatlons
[1] Front Plane B 17-833-L<2> (17-833L) - At In Work
[} Top Plane @ B 17-838<1> (Left B, A1 In Work
[] Right Plane B 17-838<2> (Right) - A1 In Work
L, origin @ 17-635<1> (17-635) R A1 In Work
» @ 17-853<1> (FRAME ASSEMBLY) 17-836<1> (17-836 A1 In Work
(17-836) 2,
» & 17-840<1> (TOP PIVOT MOUNT) _
v @8 17-845<1> (CLEVIS) @ 17-836<2> (17-836) - A1 In Work
» @ 17-843<1> (ROD END) @ rFHcs<>MaxoTx.. 2, Al Released DT-000909
» @@ 17-862<1> (BRONZE BUSHING - 101 @ rFHcs<> MaxoTx.. S, A1 Released DT-000909
> G 17-847<1> (SHAFT-TRACK) @ BHes<t>msx08x.. £, At Released DT-000910
> &p 17-846<1> (BUSHING - CLEVIS 131D @ sHes<2> Msxo08x. A1 Released DT-000910
» @& 17-846<2> (BUSHING - CLEVIS 131D
¢ @ BHCs<>M5x08X.. £, A1 Released DT-000910
» € 17-849<1> (SPACER)
» % 17-849<2> (SPACER) 6 BHCS<4> (M5 X 0.8 X... % A1 Released DT-000910
» €8 17-871<1> (FOX DPS SHOCK CYLIDE @ BHcs<s> Msx08X.. L, A1 Released DT-000910
» @& 17-872<1> (FOX DPS - ROD) @ BHCs<6>M5X08X.. £, A1 Released DT-000910
» &p TRACK FOLLOWER<3> (YOKE TYPEF @ sHes<> Msx08x.. A1 Released DT-000910
" AP TRACKEDIIOWER S (UKE PR @ BHcs<e> Ms5x08X.. A1 Released DT-000910
» B BALL BEARING<5> (8IDx 22 OD X 7 N 2 e
» & BALL BEARING<6> (8IDx 22 0D X 7' © ricsemxorx. 5 Al sleased '
» €@ 17-899<2> (LOWER BRACKET) B rHes<a>maxoTx.. £, A1 Released DT-000909
> % (-) 17-874<2> (LOWER PIN) s FHCS<5> (M4 X 0.7 X... - A1 Released DT-000909
> & 17-841<1> (4 HOLE PYRAMID) @ rFHcs<e> MaxoTX.. L, A1 Released DT-000909
» Hardware G FHCS<7> (M4 X 0.7 X... >/ A1 Released DT-000909
(-) 17-900<1> (17-900)
FH >(M4X07X... A1 Released DT-000909
4 @lﬂ] Mates % CS<8>(M4 X 07X 7
» BB DerivedHolePattern1 B 17-840<1> (17-840) e A1 In Work
B 17-845<1> (17-845) % A1 In Work
EN - @ 17-843<1>(17-843) > A1 In Work
& 6 17-862<1> (17-862) e A1 In Work
. B 17-847<1> (17847 B o A1 In Work
Lifecycle  Simulation View Tools
s 17_0.‘(_‘/1\. {417 0 AL ke
£ 2 2 17 %v | cp = B ﬁ 4o% I I—‘i}’ I—j 2y &5 v
T Model [ Motion Study 1 | -: bl (@ &0 7 &P ® (@ 2] g |

SOLIDWORKS Under Defined  Editing Assembly MMGS ~ &



Fssouoworks » D D-B-B-8-9 - 7 L\, "1 9 & - MOTO KNEE.SLDASM * Bl searchmySalidworks Q- @ @ - B &£ X
FI¥] e ; ° - | . .
£ N B8 & (2 & ] [ & B & - A L
Insert Mate Linear Component  Smart Move Show Assembly Reference  New Bill of Exploded | Instant3D Update Take Large
Components Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
- = = Components . = Study s Subassemblies Settings N
Assembly | Layout l Sketch I Markup | Evaluate | SOLIDWORKS Add-ins l 2l ¥ y e \ J 00O _ &
@ B ¢ | € » A
?. ﬁfﬂ Component Name tatus Rev |Is.. Maturity State Enterprise [tem Number
@ MOTO KNEE (MOTO KNEE) 2| [ @ MOTOKNEE (MOTO KNEE) B A a in Work -
: Himw -| [@ 17-853<1> (17-853) - e A1 In Work
15
i Aem:st. : & 17833R<1>(17-833R) 5, At In Work
nnotations —
g o2 P »
[1] Front Plane © B 7e3i<2>(17833L) 5, At In Work
(1] Top Plane A B 17-838<1> (Lef) ) A1 In Work
[1] Right Plane B 178382 Righy - A1 In Work
L., Origin @ 17-835<1> (17-835) B, A1 in Work
b = -
E?;:; zjrr gxh:ilgismiﬁ)n Q 17-836<1> (17-836) = A1 In Work
» - <>
v @ 17-845<1> (CLEVIS) @ 17-836<2> (17-836) - A1 In Work
» @ 17-843<1> (ROD END) . B rHes<>maxorx. £, A1 Released DT-000909
v €@ 17-862<1> (BRONZE BUSHING - 101l ' @ rHCs<2> Max07X e A1 Released DT-000909
» G 17-847<1> (SHAFT-TRACK) = : Z @ sBHes<1>Msx08X. £, A1 Releasad DT-000910
S ol USINGS CIEVS B8 3 { " @ sHcs>msxosx. A1 Released DT-000910
; 17-846<2> (BUSHING - CLEVIS 131D
i %17 e ESPACER) i @ BHcs<> Msx08X. £, A1 Released DT-000910
-848<1> )
v €8 17-849<2> (SPACER) O g @ BHCS<4> M5X 08X > A1 Released DT-000910
v @& () 17-871<1> (FOX DPS SHOCK CYLI @ BHcs<s> Msx08X.. S, A1 Released DT-000910
v @ (-) 17-872<1> (FOX DPS - ROD) @ BHCS<6> (M5X08X.. < A1 Released DT-000910
& TRACK FOLLOWER<3> (YOKE TYPEF 4 @ sHos<> msxo8x. % A1 Released DT-000910
; EMCK PR 5 @ BHCS<e> (M5X 08X > A1 Released DT-000910
: BALL BEARING<5> (81D x 220D X7 .
» @ BALL BEARING<6> (81D 22 0D X' ‘ : @ rHes<:>MaxoTx. £, Al Released DT-000909
v €8 17-841<1> (4 HOLE PYRAMID) @ rHes<> maxo7Xx.. A1 Released DT-000909
» [ Hardware e FHCS<5> (M4 X D7 X.. = A1 Released DT-006909
b G () 17-900<1> (17-900 LOWER BRACH @ rHes<e> (MaX0T7X 2 A1 Released DT-000909
1 _
* 0 mtes Q FHCS<7> (M4 X07X.. = A1 Released DT-000909
s EE DerivedHolePattern od
@ rHes<e> Max07X. - A1 Released DT-000909
B 17-820<1> (17-840) A A1 In Work
B 17-845<1> (17-845) o A1 In Work
EN @ 17-843<1> (17-843) S A1 In Work
3 @ 17-852<1> (17-862) S A1 in Work
X qeilt & 17-847<1>(17-847\m4 2. Ad In. Work
% ecycle  Simuilation View Tools
17-040 <45 14T D4C ke
‘ ; LR e LSS :
IR0 Model [ Motion Study1 | : lwl [ =0 =7 & 5F ¥ (& T 3
SOLIDWORKS Under Defined MMGS - &



p . <
DS SOLIDWORKS » o2 0% R T - WS vl ] {3 - MOTO KNEE.SLDASM * B search Mysolidworks QA-® @ - B P X
F]F] 7 ’ o = [ e D i [
S BE & 2 @ 1 P B & 2 A ®
Insert Mate Linear Component  Smart Move Show Assembly Reference New Bill of Exploded |Instant3D Update Take Large
Components Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
Components Study Subassemblies Settings

~ - v - - - Vo

Assembly | Layout | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins |

3DSearch - Search results for "M6... W M6x1 X 25 (% Q v

@ B|® || °
-
@ MOTO KNEE (MOTO KNEE)
4 @History
@Sensors

> Annotations

[EI Front Plane

1 of 2 Results | () O 7

B Title Type D¢
1~ BSHSS(MBEx1 X 25 LONG-LOW PROFILE SHSS) Physical Product M
@~ BSHSS(MEx1 X 25 LONG- SHSS) Physical Product M

Uiif
<

€fe e

[1] Top Plane

(1] Right Plane

L__ Origin
» & 17-853<1> (FRAME ASSEMBLY)
v €& 17-240<1> (TOP PIVOT MOUNT)
» @@ 17-845<1> (CLEVIS)
» @ 17-843<1> (ROD END)
» @ 17-862<1> (BRONZE BUSHING - 10
v &G 17-847<1> (SHAFT-TRACK)
v @ 17-846<1> (BUSHING - CLEVIS 131D
» @ 17-846<2> (BUSHING - CLEVIS 131D
v @ 17-849<1> (SPACER)
» &8y 17-849<2> (SPACER)
» @8 () 17-871<1> (FOX DPS SHOCK CYLI
» @@ (-) 17-872<1> (FOX DPS - ROD)
» & TRACK FOLLOWER<3> (YOKE TYPE F
» & TRACK FOLLOWER<2> (YOKE TYPE
» B BALL BEARING<5> (81D x 22 0D X 7
» B BALL BEARING<6> (8IDx 22 OD X 7'
v @& 17-841<1> (4 HOLE PYRAMID)
4 Hardware
» @8 () 17-900<1> (17-900 LOWER BRACH
» @ () SHSS<2> (M6x1 X 25 LONG- SHSS
» @m] Mates

4 EE DerivedHolePattern1

s > | holt
77 7] Model | Motion Study 1 | { b

SOLIDWORKS Under Defined  Editing Assembly MMGS - &7




2 - ] A =
pSsoupworks v @ ) B - e s I - 1S v! ) S - MOTO KNEE.SLDASM * Bl searcnmysotiaworks Q- @ @ - B P X
FIF] 7 ’ o = [ e Ly i [
S BE & 2 @ 1 P B & 2 A ®
Insert Mate Linear Component  Smart Move Show Assembly Reference New Bill of Exploded |Instant3D Update Take Large
Components Pattern Fasteners Component Hidden Features Geometry Motion Materials View SpeedPak Snapshot Assembly
Components Study Subassemblies Settings

~ - v - - - N

Assembly | Layout | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins |

3DSearch - Search results for "M6... W M6x1 X 25 (% Q v

@ B|® || °
-
@ MOTO KNEE (MOTO KNEE)
4 @History
@Sensors

> Annotations

[EI Front Plane

1 of 2 Results | () O 7

B Title Type D¢
1~ BSHSS(MBEx1 X 25 LONG-LOW PROFILE SHSS) Physical Product M
B~ BSHSS(MEx1 X 25 LONG- SHSS) Physical Product M

Uiif
<

€fe e

[1] Top Plane

(1] Right Plane

L__ Origin
» & 17-853<1> (FRAME ASSEMBLY)
v €& 17-240<1> (TOP PIVOT MOUNT)
» @@ 17-845<1> (CLEVIS)
» @ 17-843<1> (ROD END)
» @ 17-862<1> (BRONZE BUSHING - 10
v &G 17-847<1> (SHAFT-TRACK)
v @ 17-846<1> (BUSHING - CLEVIS 131D
» @ 17-846<2> (BUSHING - CLEVIS 131D
v @ 17-849<1> (SPACER)
» &8y 17-849<2> (SPACER)
» @8 () 17-871<1> (FOX DPS SHOCK CYLI
» @@ (-) 17-872<1> (FOX DPS - ROD)
» & TRACK FOLLOWER<3> (YOKE TYPE F
» & TRACK FOLLOWER<2> (YOKE TYPE
» B BALL BEARING<5> (81D x 22 0D X 7
» B BALL BEARING<6> (8IDx 22 OD X 7'
v @& 17-841<1> (4 HOLE PYRAMID)
4 Hardware
» @8 () 17-900<1> (17-900 LOWER BRACH
» @ () SHSS<2> (M6x1 X 25 LONG- SHSS
» @m] Mates

4 EE DerivedHolePattern1

s > | holt
77 7] Model | Motion Study 1 | { b

SOLIDWORKS Under Defined  Editing Assembly MMGS - &7




2 ; S
DS SOLIDWORKS » AN - B 8- - - B - MOTO KNEE - Sheet1 * B search Mysolidworks Q- @® ® - H & X
D N o’ A | AAA SO Balloon o/ Surface Finish [El Geometric Tolerance £ Center Mark 555
Diri’::sriton I\I':Z:‘? Cgs:llcler ;2::,:2: e Llr;eaat;el\::te ,@ Auto Balloon  /P¢ Weld Symbol Eg Datum Feature L D: Centerline f::} Revision Cloud aenie
= 2 ) Magneticline Lz Hole Callout {0 Datum Target Area Hatch/Fill = A
Drawing | Annotation [ Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins J Sheet Format| d(‘:y E a'::" < . @ - g 0 L ® 3DEXPERIENCE Q) %
> o
\V4 @ Component Name Status Rev Is... Maturity State Enterprise ltem Number
MG KHE = MOTO KNEE B 2 A2 In Work .
Flacks R WS @ MOTOKNEE (MOTOKNEE) (& A2 A2 In Work
Annotations : e
N : @ FHCs<2> MEX1X 1. A1 Released DT-000917
ek Sheet1 8 B ROD END v
3 Sheet Format1 ] BROMZE BUEHNG - 831D % 12 00 % 22 LONG G FHCS<3> (M6 X1X1... > A1 Released DT-000917
v [@) Drawing Viewd () &) @) WOOO®OO® () () S L @ rHCs<a> MeX1X1.. 2 A1 Released DT-000917
v L | Sheet2 D R U (G — e BHCS<2> (M8 X 1.25 ... o/ A1 Released DT-000882
» Sheet Format2 : z | Draccess El:;;:mma.;aw s 17-871<1> (17-871) 2, A1 In Work
» i Drawing View5 s o '
o o E T @ BALLBEARING<6>(3.. £, A1 Released DT-000883
» i Drawing Viewt 5 FERT _
% Bill of Materials4 4 ] :r‘;q«fx »-“;filsn's.HLJre: SCREN e 17-840<1> (17'840) v 4 Al In Work
19 4 OTH0a? FHCS -Wi2 1 X 120000
S T 17-862<1> (17-862 A1 In Work
7 DT 500019 )_'i.:(f\; F3 l"':i SHMILDER SCREN s ( ) V
@ 17-846<2> (17-845) % A1 In Work
@ TRACKFOLLOWER<.. 2, A1 Released DT-000911
@ BHCS<3> M8 X125 .. - A1 Released DT-000882
f} @ 17-847<1> (17-:847) & A1 In Work
] @ TRACKFOLLOWER<.. £, A1 Released DT-000911
B 17-843<1> (17-843) — At In Work
@ 17-849<1> (17-849) e A1 In Work
B 17-87r2<1> (17872 ) A1 In Work
@ BHcs<s> Mex125.. S, A1 Released DT-000912
@ sHcs<s> msxo08x.. £, A1 Released DT-000913
@ 17-846<1> (17-846) - A1 In Work
@ 17-841<1> (17:841) & A1 In Work
@ 17-849<2> (17-849) — A1 In Work
-1 [@ 17-853<1> (17-853) — A In Work
ORAINNG STATUS. N WORK s 17-833-R<1> (17-... v Al in Work
sz MOTO KNEE B 1783312 (17-. 5 A1 In Work
T % B 17-838<1> (Left) % A1 In Work
&\ @ 17-838<2> (Right) > A1 In Work
B 17es<t>(17835) £, A1 In Work
s 17-836<1>.(17-83R)___ = h A1 In Work
G Lifecycle  Simulation View Too
47 Q2L -0~
LG [XRm" S & G-
NN [(hSheet1 [[Y Sheet2 [ &3 | [ < > (| ¢ - = o »

SOLIDWORKS Under Defined  Editing Sheetl MMGS  ~ &



Search MySolidWorks

& - MOTO KNEE - Sheet1 * QA-@® @ - B P X

> |
2S5 SOLIDWORKS ¥

AD-B-@-8-5-&-L10

D N Al o A AAA SO Balloon o/ Surface Finish Geometric Tolerance £ Center Mark
Di:"::;‘on 'l’:g:;' Cg‘e’;'('er ggm:: o ”’;fa‘;,:e'\::“ SP AutoBalloon /< Weld Symbol  [A] Datum Feature Sris 3 centerline £73 Revision Cloud | 12Pl€S
v v D@o Magnetic Line U2Z Hole Callout @ Datum Target v Area Hatch/Fill v
Twingl Annotation l Sketch l Markup | Evaluate I SOLIDWORKS Add-Ins | Sheet Format | ’@ B] ﬁ @ @ Q L A
>
| ? % Component Name Status Rev Is Maturity State Enterprise ltem Number
[Z8 MOTO KNEE Vi MOTO KNEE m P In Work -
: Blms , it — -] @ MOTOKNEE (MOTOKNEE) ffy A A2 In Work DT-000957
) ?::;:atuons s FHCS<2> (M6 X 1X 1... ‘/ A1 Released DT-000917
v [=] Sheet Format1 ] = @ rHes<:>Mex1x1.. £, £ A1 Released DT-000917
» [@) Drawing Views : ; = @ & (@D (’P GP DRGNS, - @ Fros<a>Mexi1x1. £, 0Ad Released DT-000917
v [l sheet? |\ 1 oo @ sHcs>Mex125.. %, A1 Released DT-000882
> |_|SheetFormat2 \ iy :@ ) B 17-871<1> (17-871) o A In Work DT-000958
" ing Yiews FE R || momr @ BALLBEARNG<G> (8. %, gf Af Released | DT-000883
b R Drawing Viewd Pasism — S i et nio -
Ry Bill of Materialsd L+ \ = : D; *‘M“H @ 17-840<1> (17-840) B A1 In Work DT-000959
@\m = L 2T R PRTSHET: @ 17-862<1> (17-862) B A1 In Work DT-000960
B p B 1IN B (s meih e 4@ B 17-846<2> (17-846) B A1 In Work DT-000961
@/‘&3 ; % =c B @ TRACKFOLLOWER<.. £, A1 Released DT-000911
= Nl | @ BHes<>Mex125.. %, A1 Released DT-000882
; @/’E | @ 17-847<1> (17-847) o A1 In Work DT-000962
_] : s TRACK FOLLOWERKX... ‘/ - A1 Released DT-000911
S T B 17-843<1> (17-843) B YAl In Work DT-000963
| B 17-849<1> (17-849) B A1 In Work DT-000964
‘\ @ 17-872<1> (17872 B A1 In Work DT-000965
s BHCS<5> (M8 X 1.25 ... ‘/ A1 Released DT-000912
O;J s SHCS<3> (M5 X 0.8 X... ‘/ A1 Released DT-000913
/g?_"_ @ 17-846<1> (17-846) B Y A1 In Work DT-000961
pelniiree % — B 17-841<1> (17-:841) e A In Work DT-000966
:% ~~~~~~~~~~~ 17-849<2> (17-849) o A1 In Work DT-000964
/ i : ; 17-853<1> (17-853) 2 S Al In Work [}7
@ L 5 e B renrRa>7-. B & At In Work DT-000968
S - MOTO KNEE Q 17-833-L<2> (17-... ‘B A1 In Work DT-000969
- R ‘ 17-838<1> (Left) B A1 In Work DT-000970
&\ @ 17-838<2> (Right) B A1 In Work DT-000971
B 1785« (17835) G A1 In Work DT-000972
e 17-836<1>.(17-83A). f.a—;. _ A1 In Work DT-000973
s 17096, iecycle  Simulation View Tools LY NT-000973
o v @ %, |o§{; @ RS 5' @ {@} " 1-000909 -
NI [(3Sheet1 [[E Sheet2 | &0 | [ < > 4 | — >
SOLIDWORKS Under Defined  Editing Sheetl 3 e - MMGS « &



Fssoupworks ¢ YD -B-B- S - ' '%'
(t\ e\\ A’} g A asa }D Balloon

Smart Model Spell Format Note Linear Note
Dimension Items Checker Painter Pattern ,@AutoBalloon /7¢ Weld Symbol

) MagneticLine UZ Hole Callout
D=0

v v

v/-SurfaceFinish [E03 Geometric Tolerance

[ﬁ-—,l Datum Feature

@ Datum Target

MOTO KNEE - Sheet1 *

{-:-'} Center Mark @
Lhes B:.‘ Centerline {::} Revision Cloud pane
dl ~rea Hatch/Fill =

Bl & X

B search Mysolidworks

Q-] ® @ -

Drawing | Annotation ’ Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins } Sheet Formatl

PERELC

- - g O

DT-000882 BHCS M8 X 1.25 X 20 LONG

] o
o
-
E=N

-
@

—
o

DT-000912 BHCS M8 X 1.25 X 30 LONG

2}

=
=
—
o

DT-000913 SHCS - M5 X 0.8 X 12 LONG

_.
o«

-
=

DT-000877 WASHER -8 X 16 X 2.5

B
o

b
@

DT-000916 M6X2 X 30 LONG- SHOULDER SCREW

B
o

DT-000917 FHCS - M6 X 1 X 12 LONG

8
no
(=]

DT-000975 LOWER BRACKET

>
[ a T8 D
5 S 1. No! |arv] EARTNumats DESCRIPTION
Annotations 2| 1 1 DT-000967 FRAME ASSEMBLY
v L] sheett TIESE DT-000959  TOP PIVOT MOUNT
> [[] Sheet Format1 TIERE DT-000974  JCLEVIS
g : Rrowng Viewe! s| 4 | 1 DT-000963  IROD END o
7 Lo Sheet2 ol 5 | 1 DT-000960  JBRONZE BUSHING - 10 ID X 12 OD X 22 LONG »
| ey SIENIE DT-000962 [SHAFT-TRACK
» % Drawing View5
i3 - o 5 ) IEE DT-000961 [ BUSHING - CLEVIS 13 ID X 16 OD X 12.5 LONG
B b of 8 | 2 DT-000964  JJSPACER
ol 9 | 1 DT-000958  JFOX DPS SHOCK CYLIDER
o 10 | 1 DT-000985 JJFOX DPS - ROD
2l 11| 2 DT-000911  YOKE TYPE ROLLER FOLLOWER - SK-YCRS-16
o 2] 2 DT-000883  J|SKF BEARING #808-2RSH
AR K DT-000086  J|4 HOLE PYRAMID
2
2
1
2
1
4
1
1

5
=

M"‘""Wm

W [2Sheet! [[ Sheet2 [ &0 | [[<

DT-000919 M6X1 X 25 LONG- SHOULDER SCREW

> @RI B

| <

Component Name Status Rev Is.. Maturity State Enterprise ltem Number
MOTO KNEE B A~ A In Work
MOTO KNEE (MOTOKNEE) (g 2 A2 In Work DT-000957
e FHCS<2> (M6 X 1 X 1... o Al Released DT-000917
@ rHes<:>Mex1x1.. £, A1 Released DT-000917
s FHCS<4> (M6 X 1X 1... g Al Released DT-000917
@ BHcs<>Mex125.. S, A1 Released DT-000882
@ 17-871<1> (17:871) = A1 In Work DT-000958
e BALL BEARING<6=> (... 7 Al Released DT-000883
@ 17-840<1> (17-840) B A1 In Work DT-000959
@ 17-862<1> (17-862) = A1 In Work DT-000960
@ 17-846<2> (17-846) = A1 In Work DT-000961
@ TRACKFOLLOWER<.. £, A1 Released DT-000911
e BHCS<3> (M8 X 1.25 ... 7 Al Released DT-000882
@ 17-847<1> (17-:847) = A1 In Work DT-000962
@ TRACKFOLLOWER<.. £, A1 Released DT-000911
B 17-843<1> (17-843) B A1 In Work DT-000963
@ 17-849<1> (17-849) B A1 In Work DT-000964
@ 17-872<1> (17872 = A1 In Work DT-000965
s BHCS<«5> (M8 X 1.25 ... ~7 A1 Released DT-000912
@ sHcs<s> msxo08x.. £, A1 Released DT-000913
@ 17-846<1> (17-846) B A1 In Work DT-000961
@ 17-841<1> (17:841) = A1 In Work DT-000966
@ 17-849<2> (17-849) B A1 In Work DT-000964
-] [@ 17-853<1> (17-853) B A1 In Work DT-000967
B 17-833R<1> (17-. B A1 In Work DT-000968
B 1783312 (17-. B A1 In Work DT-000969
B 17-838<1> (Let) B A1 In Work DT-000970
&\ @ 17-838<2> (Right) = A1 In Work DT-000971
B et (1783) G A1 In Work DT-000972
s 17-836<1>.(17-83R) ok A1 In Work DT-000973
s ] Lifecycle  Simulation View Tools Y NT.000973

4 2 % IQDC @; (T WTZ' g -@ @ g [-000909 =

MOTO KNEE

498.781mm  353.05mm Omm  Under Defined MMGS ~ &



S SOLIDWORKS  » AN - B 8- - - B~ MOTO KNEE - Sheet1 [Read-only] B search Mysalidworks Q- @® ® - B F X
- N o’ o A AAA SO Balloon o/ Surface Finish Geometric Tolerance £ Center Mark s:8
Di:"::s’iton ':’;:’:1‘:' cg':;'('er ;gur:;:t DRt ”’,‘,?t;e'\::te SB AutoBalloon  /p< Weld Symbol (Al Datum Feature Blocks [ Centerline £73 Revision Cloud | 12P'es
= 2 ) Magneticline Lz Hole Callout {0 Datum Target « 74 Area Hateh/Fil 5 A
Twing‘ Annotation ’ Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Formatl ;‘) E (;:,J d (Cl'! g,g - @ - 00 _ & X
>
? % Component Name Status Rev Is.. Maturity State Enterprise ltem Number
MEIR KHEE = MOTO KNEE N A2 In Work .
: i::::ations E e FRAER e :,i{' [@ MOTOKNEE (MOTOKNEE) &, A2 In Work DT-000957
" Sheet] ’ :;-;' — — s FHCS<2> (M6 X 1 X 1... o Al Released DT-000917
» [ Sheet Format eYoTororcrclorotercrerorcrorero .L ° @ rFHes<>Mex1Xx1.. £, A1 Released DT-000917
4 Drawing View4 : S e FHCS<4> (M6 X 1X 1... g Al Released DT-000917
v L e - e e BHCS<2>(M8X125... =&, A1 Released DT-000882
: ;heet_“';‘ai e @ 17-s71<1> (17:871) =, A1 In Work DT-000958
. D::::ZV;:::S e BALL BEARING<6> (8... 57 A Released DT-000883
Ry Bill of Materialsd e @ 17-840<1> (17-840) - A1 In Work DT-000959
; “";“1“H @ 17-862<1>(17-862) R A1 In Work DT-000960
@ 17-846<2> (17-846) > A1 In Work DT-000961
@ TRACK FOLLOWERS... > A1 Released DT-000911
z BHCS<3> (M8 X 1.25 ... o Al Released DT-000882
} @ 17-847<1> (17-847) S A1 In Work DT-000962
] @ TRACKFOLLOWER<.. £, A1 Released DT-000911
@ 17-843<1> (17-843) ) A1 In Work DT-000963
@ 17-849<1> (17-849) - A1 In Work DT-000964
@ 17-872<1> (17-872) < A1 In Work DT-000965
s BHCS<«5> (M8 X 1.25 ... ~7 A1 Released DT-000912
@ sHcs<s> msxo08x.. £, A1 Released DT-000913
@ 17-846<1> (17-846) 2 A1 In Work DT-000961
N B 17-841<1> (17-841) S A1 In Work DT-000966
@ 17-849<2> (17-849) 5 A1 In Work DT-000964
-] [@ 17-853<1> (17-853) ) A1 In Work DT-000967
A ST e o @ 7enR>(17-. T, A1 In Work DT-000968
PR u WOTO KNEE s 17-833-L<2> (17-... 5 A1 In Work DT-000969
-+ e B 17-838<1> (Left) > A1 In Work DT-000970
&\ @ 17-838<2> (Right) > A1 In Work DT-000971
B 17e3s<1>(17835) £, A1 In Work DT-000972
e 17-836<1>.17-838) S wh A1 In Work DT-000973
s ] Lifecycle  Simulation View Too NT.000973
Q0 T 3
NN [BSheet! [[5Sheez [ &3 | < S « 2, I |Qs”"° E—f": W 7' & '@ {:C:)}' @ [ 200909 ,

SOLIDWORKS Under Defined  Editing Sheetl MMGS  ~ &



7S SOLIDWORKS  » o - EH & - . - % v% ] 5y - MOTO KNEE - Sheet1 [Read-only] B8 search mysolidwarks Q- @ @ - B P X

8 o A A AAA S Balloon o/ Surface Finish Geometric Tolerance £ Center Mark 555
piomart | Model | Spell Tormat | Note LinearNote (B AutoBalioon /p¢ Weld Symbol | (Bl Datum Feature Blocks 3 Centerline {3 Revision Cloud | 12018
7 e D@o MagneticLine LiZ Hole Callout £} Datum Target « 74 Area Haten/Fill . A
 Drawing | Annotation | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | PHEEQCR. - , a0 - e
>
? % Component Name Status Rev Is... Maturity State Enterprise Item Number
TO KNEE ~ |lE MOTO KNEE 2, A2 Released 2
¢ il:r:::ations E wa -] @ MOTOKNEE (MOTOKNEE) £, A2 Released DT-000957
+ [ sheett 1 ;"” o s SHSS<2> (M6x1 X 25 ... < Al Released DT-000919
» [ Sheet Format1 T S T @ TRACKFOLLOWERS... > A1 Released DT-000911
b [®@) Drawing Viewd GROROROROROEGHORONORORORCROROED T e L5 @ BALLBEARING<s>(s.. %, A1 Released DT-000883
v L] shee o T — B 17-841<1> (17-841) R A Released ~ DT-000966
" | Sheet Fomat? @ TRACKFOLLOWER<.. £, A1 Released DT-000911
’ B @ 1787115 (17-871) A1 Released DT-000958
» i Drawing Viewb - \/
R Bill of Moterials4 e B 17-872<1> (17-672) -2 A1 Released DT-000965
: :“_ @ BALLBEARING<6>(8.. %, A1 Released DT-000883
[F s BHCS<2> (M8 X 1.25 ... 7 A1 Released DT-000882
@ BHes<s>mex125.. £, A1 Released DT-000882
@ BHes<e> Mex125.. A1 Released DT-000912
‘] s 17-843<1> (17-843) 7, A1 Released DT-000963
i e 17-862<1> (17-862) < Al Released DT-000960
s 17-849<1> (17-849) \/ Al Released DT-000964
B 17-840<1> (17-840) 2 A1 Released DT-000959
@ 17-846<1> (17-846) > A1 Released DT-000961
s 17-849<2> (17-849) v A1 Released DT-000964
6 17-845<1> (17-845) < Al Released DT-000974
- @ 17-853<1> (17-853) < A1 Released DT-000967
B 17-833R<t> (17-.. > A1 Released DT-000968
s 17-833-L<2> (17-... < A Released DT-000969
s 17-838<1> (Left) < A Released DT-000970
S B 17-838<2> (Right) e Al Released DT-000971
MOTO KNEE B 17-635<1>(17-835) > A1 Released DT-000972
r - e — |A2 6 17-836<1> (17-836) < A1 Released DT-000973
& @ 17832 (1783%) =, A1 Released DT-000973
@ rFHes<>maxo.. A1 Released DT-000909
e FHCS<2> (M4 XN S L Released DT-000909
N Lifecycle  Simulation View Tools N7 AT 0nng1Q
(NI [&Sheet1 [[§ Sheet2 | 3 | [l < > || %' |[IEJ ’L—U ['l" ‘ﬁ;} ??D I{P I_i} i_g}j (e :@ P >
SOLIDWORKS 555.779mm  354.238mm Omm  UnderDefined Editing Sheet1 1:2 MMGS + &



,775 SOLIDWORKS » 7 - EH & - . - h v! ] Sy - MOTO KNEE - Sheet1 [Read-only] B8l search mysolidworks Q- @ @ - B F X

Ss;t M{jjel S'::hﬁl Fgat ﬁ%’e Linef;:r:NOte U Balloon o/ Surface Finish [EE Geometric Tolerance £ Center Mark s:E
Sropprin il [ detegs httar © S AutoBalloon  /p¢ Weld Symbol (Al Datum Feature Blocks I3 Centerline {3 Revision Cloud | 120/
5 5 ) Magneticline Lz Hole Callout  §0 Datum Target - 4 ~rea HatensFil = A
Twingl Annotation I Sketch | Marku;f_ Evaluate | SOLIDWORKS Add-Ins ' Sheet Format | f@\ E p‘ '\ﬁ Cﬁ @ - - 00 _ &5 X
>
\T4 @ % Component Name Status Rev Is... Maturity State Enterprise ltem Number
TB‘? K:EE 7 NE MOTO KNEE 2 A2 Released .
CKS
A:notations - @ MOTO KNEE (MOTO KNEE) o A2 Released DT-000957
+ [lsheeti s SHSS<2> (M6x1 X 25 ... 7 Al Released DT-000919
"] Sheet Format1 = @ TRACKFOLLOWER<.. £, A1 Released DT-000911
> [@) Drawing View4 ? @ BALLBEARING<S>(3.. £, A1 Released DT-000883
v | Isheet? B 17-841<1> (17-841) > A1 Released DT-000966
" e Shee P @ TRACKFOLLOWER<.. &, A1 Released DT-000911
' Dranng erws 6 17-871<1> (17-871) : A1 Released DT-000958
» i Drawing Viewb d
B Bill of Materialsd @ 17-872<1> (17872) > Al Released DT-000965
s BALL BEARING<6> (3... g Al Released DT-000883
s BHCS<«<2> (M8 X 1.25 ... 7 A1 Released DT-000882
@ BHes<e>Mex125.. £, A1 Released DT-000882
e BHCS<4> (M8 X 1.25 ... = A Released DT-000912
] B 17-843<1> (17843 > A1 Released DT-000963
@ 17-862<1> (17:862) S A1 Released DT-000960
6 17-849<1> (17-849) 7 Al Released DT-000964
@ 17-840<1> (17-840) > A1 Released DT-000959
e 17-846<1> (17-846) </ Al Released DT-000961
s 17-849<2> (17-849) =/ A Released DT-000964
s 17-845<1> (17-845) X Al Released DT-000974
DRAWING STATUS: RELEASED - [@ 17-853<1> (17-853) S A1 Released DT-000967
:r::’:&:;i 2:?52:185; s&z&g;@ ot Castrghir s 17-833-R<1> (17-... v A1 Released DT-000968
2 EIENTIONS AR M MOHER P MOTO KNEE s 17-833-L<2> (17-... o A1 Released DT-000969
pH R M= B 17-838<1> (Lef) = Al Released DT-000970
#;’":,‘;“if:m"'}“ g’:r:;f‘m g wspoo0 | e o 3 B 17-838<2> (Right) < A1 Released DT-000971
Sed Shes! Chacend BY o 17-835<1> (17-835) A1 Released DT-000972
— —_—l DT-000957 |A.2 g 17-836<1> (17-836) j A1 Released DT-000973
B\ @ 17836<2>(1783) %, At Released DT-000973
@ rFHes<>maxo.. £, A1 Released DT-000909
6 FHCS<2> (M4 X 0 =, wh A1 Released DT-000909
@  oLco. . Hiecycies Simulation View Tools | ~0- nT nAng1Q
. G @EEASI.HB GO~ -
NI [Sheet1 [[5 Sheet2 [ 3 | [ < 3 ) . ey &gk "
MOTO KNEE [Read-only] 579.108mm  29.714mm Omm  Under Defined Editing Sheetl J72 - MMGS  ~ &



& The 3DEXPERIENCE platform x + s — et

“ (4 @ 3ds.com/3dexperience
2. Eric ENGINEER .
¢ . 3DDashboard v
pray [ S 3DEXPERIENCE | Industry Innovator Dermo Tenant o o 4+ 2 < ¥
=) L My Tasks My Data My Markups My Changes My Routes == =
ENOVIA - Bookmark Editor - BioDapt Design - Project 1000 (Demo Tenant ) . — @ ¥ 3DPlay - MOTO KNEE — sa
Projects P Project 1000 Q
Infarmation
Title 12| Enterprise [tern Mumber | Description Revision Maturity State |s Last Revision | Lock Cnwner e
i MOTO KMNEE MOTO KMEE A2 Feleaszed v Eric ENGINEER L
+ @ MOTO KNEE(MOTO KNEE) DT-000980 MOTO KNEE A2 Feleazed v Eric ENGINEER L %ﬁ‘;
oJoJoleJoJoJoJoleJoJoJoXoXoRoD e
— Project Specification A In Work v Eric ENGINEER | w~- =
. VF2 FOOT VF2 FOOT ASSEMELY A Feleazed v Eric ENGINEER L
’ + @ VF2 Foot{VF2 Foot) DT-000935 VF2 Foot Assembly A Feleased v Eric ENGINEER L
E 'ﬂ' E 'm - ORNG STATUS RELEASHD
e g MOTO KHEE
e — oT-000080 4.2
Lx
Bookmark  Document View Tools Lifecycle  Collaboration

0 8 6 B - B-dO0oPLpBHEH®BE 8 0



& The 3DEXPERIENCE platform x + s — et

“ & @ 3ds.com/3dexperience
p Y .\ Eric ENGINEER .
. 3DDashboard
75 (4 3DEXPERIENCE | Industry Innovator ~ Bomo Tenant o o 4+ 2 < ¥

=) L My Tasks My Data ~ My Markups My Changes My Routes == =

] ENOVIA - Bookmark Editor - BioDapt Design - Project 1000 (Demo Tenant ) % — gz 3DPlay - MOTO KNEE — L2 ™

Projects P Project 1000 Q @
Title 12| Enterprise ltem Number | Description Revision Maturity St Menu | MOTO KNEE A2 X A
E Eric ENGINEER
o MOTO KNEE MOTO KNEE A2 Released | v 1 B ¥ N E O -
Status | Format Par...| Mame Do ;

+ @ MOTO KNEE(MOTO KNEE) DT-000980 MOTO KNEE A2 Feleased L —

FDF ad5bb810_5e... 4

- =i Gy () (0 (&) A OOOGEOOEE MO

] n E by CES-

_— Praoject Specification A In Work " =y '7...
i
Ll L a8
i - VF2 FOOT VF2 FOOT ASSEMBLY A1 Released | ~v -
.} | B
l + @ VF2 Foot{VF2 Foot) DT-000935 VF2 Foot Assembly A Released e
. | -
H 'ﬂ' E ﬂ - DRNG STATUS RELEASHD
= MOTO KNEE

— DT-000080 |2

L

Bookmark  Document View Tools Lifecycle  Collaboration

0 8 8 & B s B-dO0PLpBHDH®LE 8 0




1. DOCUMENT MANAGEMENT g
SECURE CLOUD BASED FILE STORAGE FOR ALL PROJECT DATA 'j' % '\
¥, COLLABORATION v
{
INTEGRATED COMMUNICATION WITH POWERFUL DESIGN REVIEW TOOLS »
- |

»> DESIGN RELEASE X/,

EFFORTLESSLY MANAGE THE DETAILS OF THE RELEASE PROCESS

CHANGE MANAGEMENT

o
|

S SOLIDWORKS Y/ visiativ 5 2essawr



# The 3DEXPERIENCE platform X +

< C & 3ds.com/3dexperience
77 ™, _ Eric ENGINEER
DS ko 3DEXPERIENCE | 3DDashboard Industry Innovator w R i
=) £ My Tasks My Data My Markups My Changes My Routes ~ == =
O = L1V

Bl ENOVIA - Route Management - Formal Change Approval_

Formal Change Approval_

Owner : Eric ENGINEER Revision : 3

Collaborative Space : BioDapt Design Modified : 44 minutes ago l}
Maturity State : QRGEEEE

of8 Tasks % Members

Purchasing Approval

v
= O
Manufacturing Approval -
v |
= = D
Product Management Approval Purchasing Approval Approval
™ All v | Any v 1 -
| = Oc = (9] oran = (o Joran |
Quality Approval
v

= O

Purchasing Approval



o
Ve

____________>

1
I
I
I
I
I
I
I
I

2.
DS sistéties

v

isiat

yv

2
2S SOLIDWORKS



2.
DS sistéties

v

isiat

yv

2
23S SOLIDWORKS



&
as

____________>

I
I
I
I
I
I
I
I
I
I
I
I
L----------
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

1
I
I
I
I
I
I
I
I

2.
IV DS sésndiies

isiat

yv

23S SOLIDWORKS

2.



-—— -

2

DS sistéties

v

isiat

yv

2
23S SOLIDWORKS



r—-———---—-—

2.
IV DS sésndiies

isiat

yv

P,
2S SOLIDWORKS



# The 3DEXPERIENCE platform X +

< C & 3ds.com/3dexperience
77 ™, _ Eric ENGINEER
DS ko 3DEXPERIENCE | 3DDashboard Industry Innovator w R i
=) £ My Tasks My Data My Markups My Changes My Routes ~ == =
O = L1V

Bl ENOVIA - Route Management - Formal Change Approval_

Formal Change Approval_

Owner : Eric ENGINEER Revision : 3

Collaborative Space : BioDapt Design Modified : 44 minutes ago l}
Maturity State : QRGEEEE

of8 Tasks % Members

Purchasing Approval

v
= O
Manufacturing Approval -
v |
= = D
Product Management Approval Purchasing Approval Approval
™ All v | Any v 1 -
| = Oc = (9] oran = (o Joran |
Quality Approval
v

= O

Purchasing Approval



& The 3DEXPERIENCE platform x + s — et

“ & @ 3ds.com/3dexperience
. Eric EMGINEER
3DEXPERIENCE | 3DDashboard Industry Innovator v Demo Tenant S + 2 Q ¥
=) L My Tasks My Data My Markups My C_Panges ~ My Routes = =
- Issue Management - My issues - [] - Issue eview - My issues - There are no issues to show. - [] i
i ENOVIA - | M t-Myi [ "l g i ENOVIA - | 3D Revi My i Th i h [l
s — . —
=y + X = 0 =
Title Mame Maturity State Description Priarity Actions
+ ® Chain Guard Covering 155-5W-0000025 @ The rear drive chain gu... Pre-assigned w
+| () Ball Hitch Extension ISS-SW-0000023 [ In Work User complaint aboutb... S Low ~
+ ® Handlebar Risers ISS-SW-0000024 m User complaint about n... = Low L
+| () Reduce Weight ISS-SW-0000063 [ In Work Customers are looking f... S Low v
+| () Front Shock Length Resize 1SS-SW-0000021 The travel on the fronts... & Medium ~
+ ® Casted enclosure needs manufacturability... |SS-SW-0000047 m Meed to verify this casti... = Medium L
+ ® Reduce Overall Weight I55-5W-0000069 o D Customers are requesti. . = High N

Drop here

W 0 A

Please select an issue to display its information.

g ﬂ Essentials View Tools

B ENOVIA - Change Action - T . © @' El‘i:] g g ‘%’ 9 g‘j @' 3d- E v L X o




Type @) Issue
Name ISS-SW-0000069

Title Reduce Overall Weight

Description Customers are requesting a Iighter design to help aid in overall performance
Priority High
Actual Start Date




& The 3DEXPERIENCE platform

®

-+

& @ 3ds.com/3dexperience

3DEXPERIENCE | 3DDashboard Industry Innovator s

Eric ENGIMEER
Demo Tenant

A

O + 2 Q)

ENOVIA - Issue Management - My issues (7)

My Tasks

My Data

My Markups

My Changes ~ My

Routes -

b, — . —
=5 + R % | &= : O <
= Title Mame Maturity State Description Priarity Actions
+ ® Chain Guard Covering I55-5W-0000025 m The rear drive chain gu... Pre-assigned W
+| () Ball Hitch Extension ISS-SW-0000023 [ In Work User complaint aboutb... S Low ~
+| (I) Handiebar Risers ISS-SW-0000024 [ In Work User complaint aboutn... T Low v
+ (1) Reduce Weight ISS-SW-0000063 [ In Work Customers are looking f... S Low v
+| () Front Shock Length Resize 1SS-SW-0000021 The travel on the fronts... & Medium ~
+ ® Casted enclosure needs manufacturability... |SS-SW-0000047 m Meed to verify this casti... = Medium L
v | + ® Reduce Overall Weight IS3-5W-0000069 :' i Customers are requesti... = High L
oy
| bk
. | N ]
Reduce Overall Weight (155-SW-0000069) o | &l -
- |
Opened 5 minute(s) ago. Owned by Ben BUSINESS. ] ]
T EEERNW
1 1 D &1 0 =0 1/28/2022 Drop here
ot ———
o 4
Properties @ @ated Object(s) ﬂ?n Members ?/' Attachments l- Comments 'G} History
— A
1 Item(s) ® = 3
Reported Against
Title Type Name Revision Maturity State
s 1-17-999(17-999) Physical Product 2021-8SW-00045696 Al Released
| 3
Resolved by /T\
[7) o Essentials View Tools z X

] ENOVIA - Change Action - 1T . © ®' D‘i:] g g ‘%’ ) %D @' i E\ e L X o



# The 3DEXPERIENCE platform X +

& %1 @ 3ds.com/3dexperience
/775 ™)  3DEXPERIENCE | 3DDashboard Industry Innovator v
3 > W
=) Ee8 My Tasks My Data My Markups My Changes v My Routes ==
B ENOVIA - Issue Management - My issues (7) D - - 5
= +aR % = 0
B | Title Name Maturity State Description Priority Actions
+ @ Chain Guard Covering ISS-SW-0000025 The rear drive chain gu... Pre-assigned v
+ () Ball Hitch Extension SS-SW-0000023 [In Work) User complaint aboutb... S Low v
¥ © Handlebar Risers ISS-SW-0000024 [ In Work | User complaint aboutn... S Low v
- @ Reduce Weight ISS-SW-0000063 m Customers are lookingf... = Low v
+ @ Front Shock Length Resize ISS-SW-0000021 The travel on the fronts... = Medium v
+ @ Casted enclosure needs manufacturability. .. 1SS-SW-0000047 [ In Work Need to verify this casti... = Medium v
IR @ Reduce Overall Weight ISS-SW-0000069 (To Do | Customers are reguesti... = High v
il »
Reduce Overall Weight (ISS-SW-0000069) Q
Opened 5 minute(s) ago. Owned by Ben BUSINESS
1 1 0 1 0
Properties @ Related Object(s) ﬂ'\ Members @ Attachments l- Comments @ History

Contexts

Title
[@ VF2 Foot(VF2 Foot)

Revision
2021-SW-00045695 A1

Type Name

Physical Product

@

ENOVIA - Change Action

© =

Maturity State

Released

v

Eric ENGINEER

Demo Tenant

2] ENOVIA - Issue 3D Review - My issues (1)

3=
-

5

(2]

~

View

Tools

G vD@mpe +P & 0

Essentials

gy‘v

e L X




# The 3DEXPERIENCE platform X +

< C & 3ds.com/3dexperience
D?S 3':()2\? 3DEXPERIENCE | 3DDashboard Industry Innovator w

=) fe My Tasks My Data My Markups My Changes v My Routes ==

ENOVIA - Issue Management - My issues (7) O

= + @ R | % &

B | Title
+ @ Chain Guard Covering

Name Maturity State

Description

ISS-SW-0000025

+ () Ball Hitch Extension SS-SW-0000023 aD User complaint aboutb... S Low
¥ @ Handlebar Risers ISS-SW-0000024 [ In Work User complaint aboutn... S Low
+ @ Reduce Weight ISS-SW-0000063 m Customers are lookingf... & Low
+ @ Front Shock Length Resize ISS-SW-0000021 The travel on the fronts... = Medium
#| () Casted enciosure needs manufacturability. . 1SS-SW-0000047 [ In Work) Need to verify this casti... & Medium
| + ® Reduce Overall Weight ISS-SW-0000069 Customers are requesti... = High
gl »
Reduce Overall Weight (ISS-SW-0000069)
Opened 5 minute(s) ago. Owned by Ben BU| Set the issue(s) as 'In Work' state
1 1 0 21 0 0 1/28/2022 to indicate you are working on ii.
| e | T A
Properties @ Related Object(s) ﬂ'\ Members @ Attachments l- Comments @

Contexts

Revision
2021-SW-00045695 A1

Title Type Name

[@ VF2Foot(VF2Foot)  Physical Product

@

ENOVIA - Change Action

The rear drive chain gu...

Priority

Pre-assigned

®

i i

Actions

1€ € €<

<

History

=

Maturity State

Released

(2]

v

Eric ENGINEER

Demo Tenant

v 2] ENOVIA - Issue 3D Review - My issues (1)

~

Tools

Essentials View

GRO@Ee e +9P & O

. o

e L X




% The 3DEXPERIENCE platform X + D = X

B e @ 3ds.com/3dexperience

2. &P Eric ENGINEER
DS A oo/ 3DEXPERIENCE | 3DDashboard Industry Innovator w ot s

=) g My Tasks My Data My Markups My Changes ~ My Routes == s
B ENOVIA - Issue Management - My issues (7) O - < W 3 ENOVIA - Issue 3D Review - My issues (1) O - 4 v

N e
+ (1) ga1uien e New Change Action X

2/ TR Title *

| Ercnt Shag Reduce Overall Weight

Description

Customers are requesting a lighter design to help aid in overall performance

4
Severity
o
Due Date -
Save as Draft Begin Work Cancel
Contexts
(¥ vra2F 'F2 Foo Physical P 2021-SW-00045695 A Released

(2] (i | Essentials View Tools

ENOVIA - Change Action = r v © @' @‘E g g' 4%' E§l p @' Ej' i‘qr' 3’;;, LW X o

= dJd



# The 3DEXPERIENCE platform X + vV = X

& %1 @ 3ds.com/3dexperience
2 7 0 Y Eric ENGINEER
‘ . 3DDashboard
DS b 3DEXPERIENCE | Industry Innovator w Demb Tenant <
- V.R ; . ; s e T
=) My Tasks My Data My Markups My Changes v My Routes == =
ENOVIA - Issue Management - My issues (7) D - 8- Y 2] ENOVIA - Issue 3D Review - My issues (1) O - i 34
= +aR % = 0 =
B | Title Name Maturity State Description Priority Actions
+ @ Chain Guard Covering ISS-SW-0000025 The rear drive chain gu... Pre-assigned v
+ () Ball Hitch Extension SS-SW-0000023 [In Work) User complaint aboutb... S Low v
¥ @ Handlebar Risers ISS-SW-0000024 [ In Work User complaint aboutn... S Low v
- @ Reduce Weight ISS-SW-0000063 m Customers are lookingf... = Low v
+ @ Front Shock Length Resize ISS-SW-0000021 The travel on the fronts... = Medium v
- @ Casted enclosure needs manufacturability... 1SS-SW-0000047 [ In Work Need to verify this casti... = Medium v
| + ® Reduce Overall Weight ISS-SW-0000069 Customers are requesti... = High v
1 »
Reduce Overall Weight (1SS-SW-0000069) Q

Opened 6 minute(s) ago. Owned by Ben BUSINESS
1 @1 1 &1 0«0 1/28/2022

Properties @ Related Object(s) &'\ Members @ Attachments l- Comments @ History
@ Members
4 »
Contexts @ E
Title Type Name Revision Maturity State
@ vrF2Foot(VF2 Foot)  Physical Product 2021-SW-00045695 A1 Released
4 » LJ
() O Essentials View Tools X

[2] == . (i )
ENOVIA - Change Action = I @ﬂ" @‘E g G' % {i‘ £O @' Ej' o, ?Q [0 X




# The 3DEXPERIENCE platform X + vV = X

& %1 @ 3ds.com/3dexperience
2 7 0 Y Eric ENGINEER
( . 3DDashboard v
DS b 3DEXPERIENCE | Industry Innovator Demb Tenant <
- V.R ; - ; N arae e R
=) My Tasks My Data My Markups My Changes v My Routes == =
ENOVIA - Issue Management - My issues (7) D - 8- Y 2] ENOVIA - Issue 3D Review - My issues (1) O - i 34
= +aR %N = : 0 =
B | Title Name Maturity State Description Priority Actions
+ @ Chain Guard Covering ISS-SW-0000025 The rear drive chain gu... Pre-assigned v
+ () Ball Hitch Extension SS-SW-0000023 [In Work) User complaint aboutb... S Low v
¥ @ Handlebar Risers ISS-SW-0000024 [ In Work User complaint aboutn... S Low v
- @ Reduce Weight ISS-SW-0000063 m Customers are lookingf... = Low v
+ @ Front Shock Length Resize ISS-SW-0000021 The travel on the fronts... = Medium v

0 Casted enclosure needs manufacturability... 1SS-SW-0000047 Need to verify this casti... Medium
] @ Reduce Overall Weight ISS-SW-0000069 Customers are requesti...
O [@ vF2 Foot(vF2 Foot) 2021-SW-00045695 Released

® e 1-17-099(17-999) 2021-SW-00045696 Released

[ é&) cA-SW-00000069 CA-SW-00000069 Draft

Reduce Overall Weight (ISS-SW-0000069) Q
Opened 6 minute(s) ago. Owned by Ben BUSINESS
1 @1 1 &1 0«0 1/28/2022

Properties @ Related Object(s) ﬂ'\ Members @ Attachments l- Comments @ History
4 »
Contexts @ E
Title Type Name Revision Maturity State
@ vrF2Foot(VF2 Foot)  Physical Product 2021-SW-00045695 A1 Released
4 » LJ
() O Essentials View Tools X

[2] == . (i )
ENOVIA - Change Action = I @ﬂ" @‘E g G' % {i‘ £O @' Ej' o, ?Q [0 X




% The 3DEXPERIENCE platform X +

B e @ 3ds.com/3dexperience
1775 m 3DEXPERIENCE | 3DDashboard Industry Innovator w G LER
> Demo Tenant «

=) g My Tasks My Data My Markups My Changes ~ My Routes == s

E] ENOVIA - Issue Management - My issues (7) - L1 ¥ E§ ENOVIA - Issue 3D Review - My issues (1) O — 1 v

B3 ENOVIA - Change Action O g La v =

Vv Reduce Overall Weight minimize () %]

Owner : Eric ENGINEER Collab Space : BioDapt Design
Organization : Company Name Applicability : No
Dependency : No Governing Change Order : Unassigned

Attachment: 0
Maturity : Draft

OVl 2% Members © Proposed Changes X Realized Changes & Approvals ) Contexts

'

Type &) Change Action

Name CA-SW-00000062
Title Reduce Overall Weight
Description Customers are requesting a lighter design to help aid in overall performance "
Owner Eric ENGINEER

Creation Date 1/26/2022, 9:02:08 AM

Actual Start Date

Due Date 1/27/2022

Modification Date 1/26/2022, 9:02:10 AM

Estimated Start Date

Severity High

Essentials View Tools

© GRODBLE Y $3/P0& 0k % X o



# The 3DEXPERIENCE platform X +

B e 8@ 3ds.com/3dexperience
2. P Eric ENGINEER
DS Y 3DEXPERIENCE | 3DDashboard Industry Innovator w e Y
=) Eo8 My Tasks My Data My Markups My Changes v My Routes = =
B3] ENOVIA - Issue Management - My issues (7) = v 3] ENOVIA - Issue 3D Review - My issues (1) o — a3 g
ENOVIA - Change Action & = J3 W™ =
" S\
Reduce Overall Weight v @ ¥
Owner : Eric ENGINEER Collab Space : BioDapt Design
Organization : Company Name Applicability : No
Dependency : No Governing Change Order : Unassigned

Attachment : 0
Maturity : Draft

Properties s Meglbers 8 Proposed Changes Y. Realized Changes & Approvals T Contexts
Members - Y &=~

8 Eric ENGINEER 8 Ben BUSINESS

Informed User

Owner, Assighee

Essentials View Tools

© GRIDBP S 3P & 0k % OX °

Total Rows: 2 Selected Rows: 0



% The 3DEXPERIENCE platform X +

B e @ 3ds.com/3dexperience

75 @ 3DEXPERIENCE | 3DDashboard Industry Innovator w
2. >

=) g My Tasks My Data My Markups My Changes ~ My Routes ==

E] ENOVIA - Issue Management - My issues (7)
E3 ENOVIA - Change Action

v

Reduce Overall Weight

Owner : Eric ENGINEER Collab Space : BioDapt Design
Organization : Company Name Applicability : No
Dependency : No Governing Change Order : Unassigned

Attachment: 0
Maturity : Draft

Properties O Proposed Changes Y Realized Changes

Eric ENGINEER
Demo Tenant «

= &3 ¥ B3 ENOVIA - Issue 3D Review - My issues (1)
& = o W =

& Approvals T Contexts

+ ¢ 7 &

Members

Assignee

Approver Formal Change Approval_ X |

-

Informed Use

€

Essentials View Tools

G RODBPLY $3/0& 0

o5ty D4
P MY

L0 X



# The 3DEXPERIENCE platform X +

B e 8@ 3ds.com/3dexperience
2. P Eric ENGINEER
DS Y 3DEXPERIENCE | 3DDashboard Industry Innovator w e Y
=) Eo8 My Tasks My Data My Markups My Changes v My Routes = =
B3] ENOVIA - Issue Management - My issues (7) = v 3] ENOVIA - Issue 3D Review - My issues (1) o — a3 g
ENOVIA - Change Action & = J3 W™ =
" S\
Reduce Overall Weight v @ ¥
Owner : Eric ENGINEER Collab Space : BioDapt Design
Organization : Company Name Applicability : No
Dependency : No Governing Change Order : Unassigned

Attachment : 0
Maturity : Draft

Properties .’." Members .O:, Propose('kChanges Y. Realized Changes & Approvals T Contexts
Proposed Changes e Q gl BB D@

& 1-17-999(17-999) A.1

Name : 2021-SW-00045696 Maturity : Released
Operation : Revision Collab Space : BioDapt Design

Essentials View Tools

© GRIDBP S 3P & 0k % OX °



# The 3DEXPERIENCE platform X + vV = X

B e @ 3ds.com/3dexperience

Eric ENGINEER

Demo Tenant «

/775 @ 3DEXPERIENCE | 3DDashboard Industry Innovator w
3

o > ¥
=) g My Tasks My Data My Markups My Changes ~ My Routes == =
E] ENOVIA - Issue Management - My issues (7) e .2 ¥ 3 ENOVIA - Issue 3D Review - My issues (1) O - e e

B3 ENOVIA - Change Action S = a1 ™ =
. N
Reduce Overall Weight o @ €
Owner : Eric ENGINEER Collab Space : BioDapt Design
Organization : Company Name Applicability : No
Dependency : No Governing Change Order : Unassigned

Attachment : 0
Maturity : Draft

Properties .’." Members 9. Proposed Changes Y. Realized Changes Q Approvals [ Contexts

Proposed Changes o = O\ gl Da Eél

@ VF2 Foot(VF2 Foot) A.1

Name : 2021-SW-00045695 Maturity : Released \
Operation : Revision Collab Space : BioDapt Design
17-999 A.1

Name : DRW-SW-00001722 Maturity : Released

Operation : Revision Collab Space : BioDapt Design

VF2 FOOTA.1

Name : DRW-SW-00001721 Maturity : Released

Operation : Revision Collab Space : BioDapt Design

6 1-17-999(17-999) A.1 5,-
Name : 2021-SW-00045696 Maturity : Released

Operation : Revision Collab Space : BioDapt Design

Essentials View Tools

° G ROBPE Y ¢/ & 0 5% X o




# The 3DEXPERIENCE platform X + vV = X

< C & 3ds.com/3dexperience
/775 3:(? 3DEXPERIENCE | 3DDashboard Industry Innovator w SQ:;”%:EE? y
=) g My Tasks My Data My Markups My Changes ~ My Routes == =
E] ENOVIA - Issue Management - My issues (7) e .2 ¥ 3 ENOVIA - Issue 3D Review - My issues (1) O - e e
B} ENOVIA - Change Action O = 11 ™ =
Reduce Overall Weight o @ €

Owner : Eric ENGINEER Collab Space : BioDapt Design Organization : Company Name
Applicability : No Dependency : No Governing Change Order : Unassigned
Attachment : 0

Maturity : In Work

Properties :." Members 2 Proposed Changes ;{_, Realized Changes Q Approvals [0 Contexts

Proposed Changes + O\ gl @a [DEJ

@ VF2 Foot(VF2 Foot) A.1

Name : 2021-SW-00045695 Maturity : Released :
Operation : Revision Collab Space : BioDapt Design |
17-999 A1

Name : DRW-SW-00001722 Maturity : Released

Operation : Revision Collab S : BioDapt Design

VF2 FOOTA.1

Name : DRW-SW-00001721 Maturity : Released
Operation : Revision Collab Space : BioDapt Design

@ 1-17-999(17-999) A.1

Name : 2021-SW-00045696 Maturity : Released
Operation : Revision Collab Space : BioDapt Design

Essentials View Tools

° G ROBPE Y ¢/ & 0 5% X o



@ 1-17-999(17-999) B.1
2021-SW-00045696

17-999 B.1
DRW-SW-00001722

@ VF2 Foot(VF2 Foot) B.1
2021-SW-00045695

B VF2 Foot B.1
CAD-SW-00015103

VF2 FOOT B.1
DRW-SW-00001721

B 1-17-999 B.1
CAD-SW-00015102

In Work
BioDapt Design

In ‘."\"OI'K
BioDapt Design

In Work
BioDapt Design

In ‘NOI’K
BioDapt Design

In Work
BioDapt Design

In ‘."\"OI'K
BioDapt Design




P 7 <
DS SOLIDWORKS » AN - -8- - - t} -8 53 - 17-999 - Sheet1 [Read-only] Bl search Mysolidworks Q- @® @ - B P X
'S N A & A AAA SV Balloon o/ Surface Finish Geometric Tolerance £ Center Mark 553
Smart Model Spell Format Note Linear Note Blocks % 0 Tables
Dikercion ‘Geme | Chedder Paiates Rdteon @ Auto Balloon /P¢ Weld Symbol @ Datum Feature D: Centerline E:} Revision Cloud
5 < ) MagneticLine Lz Hole Callout  fa0) Datum Target 3 Area Hatch/Fill < A
D=0
: g 7 = P - - :
Drawing | Annotation l Sketch l Markup I Evaluate | SOLIDWORKS Add-Ins | Sheet Format | Je E S & (71 &3 . A - 00 _ & « 3DEXPERIENCE {o}

-
2% ENOVIA MuySession - BioDapt Design (D... Q

> )
\V4 @ Component Name Status Rev Is... Maturity State Description File Name
2 17-9%9 Vi 17-999 2 B.1 In Work 17-999.SLDDF
[&) Annotations Q 1-17-999 (17-9... > B.1 In Work Upright Linkage 1-17-999.SLDF
v [ Sheet1 @
» Sheet Format1 ==
4 DrawingView1 @
4 g Drawing View2
4 g Drawing View3
Upnght Linkisge
01000678 8.1 %
Lifecycle  Simulation View Tools
G| B & e SR
RN [bSheett [#3 ] i ‘ o S
SOLIDWORKS Under Defined  Editing Sheetl 2:1 - MMGS +« &



Sssouoworks » O D-M-B-S - E 'D}"O@'
{\ é«\’ AP) g A AAA }f) Balloon

Smart Model Spell Format Note Linear Note
Dimension Items = Checker Painter Pattern 9AUt°Ba"°°" /7¢ Weld Symbol @ Datum Feature

v/- Surface Finish Geometric Tolerance

{-:.'} Center Mark
Blocks D: Centerline

{:3 Revision Cloud

17-999 - Sheet1 [Read-only]

ESearchP-IySolid'.*."orks Q - @ @ = E] [5 X

< < ) Magnetictine Lz Hole Callout {0 Datum Target « 74 rrea HatehsFil A

Twing‘ Annotation ’ Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | ;:) E (';:., \,sz (’d @ - d 0 _ «® 3DEXPERIENCE @}*
| = eNoviA Q Q)
> o K

? m Component Name Status Rev Is... Maturity State Description File Name
17-999 Vi 17-999 2 B.1 In Work 17-999 SLDDF

Annotations B o9t %, B.1 In Work Upright Linkage 1-17-999 SLDF
v [ Sheet @

» Sheet Format1

4 Drawing View1 @

4 g Drawing View2

4 g Drawing View3

1 .
B Work Under
01000878 [B.1
Change Action
_ &8 Reduce Overall We..
% ﬁA CA-SW-00000069 | eric_en
In Work | 2022-01-28
i View Tools
= g ot R

NI [(Sheett [#3 ] I p ;

SOLIDWORKS

Under Defined  Editing Sheetl AL - MMGS « &






D B & -

ish

ol

it @ Datum Target

|

Geometric Tolerance

@ Datum Feature

7

|
e

{-:r} Center Mark

Blocks B:.‘ Centerline

hd

Area Hatch/Fill

3 Revision Cloud

17-999 - Sheet1 [Read-only]

i

Tables

BSearr_h MySolidWorks \ g @ @ - EE] S X

i & C &

o -

]
]

[&=
L

EMenler

Component Name Status Rev
: 17-999 e/ B.1
- o s man sem &
B.1
B Expand all v
» Collapse all

[_‘} Save

la‘ Save with Options

u Lock

259 Maturity

et

I & New Revision

Is... Maturity State Description File Name
In Work 17-999.SLDDF
In Work Upright Linkage 1-17-999 SLDF



P =
2S SOLIDWORKS -+ 17-999 - Sheet1 [Read-only] E Search MySolidWorks Q- @ @ = B P X
N AAA / Balloon Surface Finish  [2[03 Geometric Tolerance 0 +7 Center Mark
A v EE & ©
Smart Model Spell Format Note Linear Note Blocks % 0 Tables
Dincacion Hems | Chedier Pavkes Pattern @ Auto Balloon  /P¢ Weld Symbol @ Datum Feature D: Centerline {:3 Revision Cloud
< = Magnetic Line L1 Hole Callout Datum Target + 4 srea Haten/Fil = A
n
Drawing | Annotation | Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins | Sheet Format | PEHEQGCR -9 - a0 « 3DEXPERIENCE £c3 %
| = eNoviA Q Q)
> o K
? m Component Name Status Rev Is... Maturity State Description File Name
17-999 Vi 17-999 B.1 Frozen 17-999.SLDDF
13 \/
[&) Annotations B o9t %, B.1 Frozen Upright Linkage 1-17-999 SLDF
v [ Sheet @
» Sheet Format1
4 Drawing View1
. £
* & Drawing View2 =
4 g Drawing View3
] .
Q- P12~ N
/ B
!
= | ‘
-/ o/ ’
B = Upngtt Linkize
DT-000978 IE,I
[ICA |
Lifecycle  Simulation View Tools
Qe TR
- | B @ e B
NN [(Sheett [#3 ] I = p d ;
SOLIDWORKS Under Defined  Editing Sheet1 P - MMGS =« &



X =
23S SOLIDWORKS -

& & P o A 9 m
Smart Model Spell Format Note Linear Note
Dimension Items Checker Painter Pattern

,@\J Balloon

,@ Auto Balloon  /p¢ Weld Symbol

) MagneticLine LZ Hole Callout
D)

v v

v/- Surface Finish Geometric Tolerance

@ Datum Feature

@ Datum Target -

{*:} Center Mark
SR B] Centerline

@ Area Hateh/Fill

E:} Revision Cloud

17-999 - Sheet1 [Read-only]

]

Tables

B & X

E Search MySolidWorks

@ @ -

Drawing | Annotation I Sketch | Markup | Evaluate | SOLIDWORKS Add-Ins I Sheet Format |

>
17-999
Annotations
v Sheet1
4 Sheet Format1

PERECR -v-B

B D

» Drawing View1

80:B

» & Drawing View2

hd

o3 Drawing View3

Upngtt Linkage

01000078 |B.1

R [(BSheett [#3 ]

[l <

> @RI B

ENOVIA Change Action wv

Reduce Overall Weight o 0 ae

Owner : Eric ENGINEER
Organization : Company Name Applicability : No

Collab Space : BioDapt Design

Dependency : No Governing Change Order : Unassigned

Attachment: 0

Maturity : In Wo@'
2 2 9@ ©
Realized Changes

2l Q [ GG

@ 1-17-999(17-9... B.1
Revise Modify,Change Status

Frozen

17-999 B.1

Revise Modify,Change Staitus

@ VF2 Foot(VF2 ... B.1 Frozen

Revise Modify,Change Siatus

& VF2 Foot B.1
Revise Modify,Change Status

Frozen

VF2 FOOT B.1
Revise Modify,Change Status

B 1-17-999 B.1 Frozen

Revise Modify,Change Status

SOLIDWORKS

Under Defined  Editing Sheetl Ze:] - MMGS &



# The 3DEXPERIENCE platform X +

B e @ 3ds.com/3dexperience
2 AT, Eric ENGINEER
DS A oo/ 3DEXPERIENCE | 3DDashboard Industry Innovator w ot s
=) g My Tasks My Data My Markups My Changes ~ My Routes == s
E] ENOVIA - Issue Management - My issues (7) e . 2 ¥ E3 ENOVIA - Issue 3D Review - My issues - There are no issues to show. O - £ 2
B3 ENOVIA - Change Action S = a1 ™ =
. ()
Reduce Overall Weight o @ €
Owner : Eric ENGINEER Collab Space : BioDapt Design
Organization : Company Name Applicability : No
Dependency : No Governing Change Order : Unassigned

Attachment : 0
Maturity : In Approval

Properties &% Members & Proposed Changes X Realized Changes Ev IO E N © Contexts

4 >
v

Purchasing /

sd Approved
1= 127
Manufacturing Approval

® Approved 2

TRy IR SS ] Completed
Product Management Approval Purchasing /
o Al sd Approved v Any | sb Approved
T—RIr1(7 7 M EE X Completed — Y

Quality Approval
s Approved v

= 02 @

Purchasing /
sb Approved

= 1127

s | e

Essentials View Tools

© G UDBL @ $3P@ 0 5% X -




# The 3DEXPERIENCE platform X +

B e @ 3ds.com/3dexperience
2 AT, Eric ENGINEER
DS A oo/ 3DEXPERIENCE | 3DDashboard Industry Innovator w ot s
=) g My Tasks My Data My Markups My Changes ~ My Routes == s
E] ENOVIA - Issue Management - My issues (7) e . 2 ¥ E3 ENOVIA - Issue 3D Review - My issues - There are no issues to show. O - £ 2
B3 ENOVIA - Change Action S = a1 ™ =
. ()

Reduce Overall Weight o @ €

Owner : Eric ENGINEER Collab Space : BioDapt Design

Organization : Company Name Applicability : No

Dependency : No Governing Change Order : Unassigned

Attachment : 0
Maturity : In Approval

Properties &% Members & Proposed Changes X Realized Changes Ev IO E N © Contexts
&
Purchasing Approval

sd Approved 7

T—RI71(7 7> 30 00X Compieted

Purchasing Approval Approval
Any #é Approved P L Awaiting Approval " = @
T—RTr1/7Y 73 F X Completed R T/l 3 X 7o Do

Purchasing Approval
sd Approved v
TR/ 7 VM Compieted

ZJ,\X
© G UDBL @ $3P@ 0 5% X -

Essentials View Tools




# The 3DEXPERIENCE platform X +

B e 8@ 3ds.com/3dexperience
2 &P, Eric ENGINEER
DS Y 3DEXPERIENCE | 3DDashboard Industry Innovator w e Y
=) Eo8 My Tasks My Data My Markups My Changes v My Routes = =
ENOVIA - Issue Management - My issues (7) n i v E3] ENOVIA - Issue 3D Review - My issues - There are no issues to show. O - .2 2
ENOVIA - Change Action S — 1 = r_?
i Approve v
Expected Action
Needs Owner Revie

This approval requires an electronic signature

SDEXPERIENCE ID

| understand that by entering my user
name and password, | am applying my
electronic signature which is equivalent
to my handwritten signature

3DEXPERIENCE

ZJ,\X
° G VD@L $3P @ 0 & % 0X -

Essentials View Tools




# The 3DEXPERIENCE platform X +

B e @ 3ds.com/3dexperience
2 AT, Eric ENGINEER
DS A oo/ 3DEXPERIENCE | 3DDashboard Industry Innovator w ot s
=) g My Tasks My Data My Markups My Changes ~ My Routes == s
E] ENOVIA - Issue Management - My issues (7) e . 2 ¥ E3 ENOVIA - Issue 3D Review - My issues - There are no issues to show. O - £ 2
B3 ENOVIA - Change Action S = a1 ™ =
- "

Reduce Overall Weight >

Owner : Eric ENGINEER Collab Space BioDapt Design Organization : Company Name

Applicability : No Dependency : No Govemning Change Order : Unassigned

Attachment : 0
Maturity : Completed

Properties :." Members 8 Proposed Changes ;{_, Realized Changes Q YIS © Contexts

Manufacturing Approval
® Approved Vv

T R171/7 7 B 55X Completed
Product Management Approval
b Approved v Any

= 1272022

L Al

Quality Approval
wd Approved v

T3z 7> 3 00X Completed

ZJ,\X
© G UDBL @ $3P@ 0 5% X -

Essentials View Tools




& The 3DEXPERIENCE platform x +

“— & @ 3ds.com/3dexperience
= Eric EMGINEER -
3DEXPERIENCE | 3DDashboard Industry Innovator Demo Tenant - o + 2 Q ¥
=) L My Tasks My Data My Markups My Changes My Routes = =
ENOVIA - Issue Management - My issues (7) . - e ENOVIA - Issue 3D Review - My issues - There are no issues to show. & - . =
ENOVIA - Change Action By = ZJT = =
- Y
v \ Reduce Overall Weight \x

Owner : Eric ENGIMNEER. Collab Space BioDapt Design Organization : Company Mame
Applicability : Mo Governing Change Order : Unassigned
Attachment : 0

Maturity : Completed

Dependency : No

& Approvals [ Contexts

2l Q L L

5% Members

Properties 9 Proposed Changes R4l [Fd=0) (‘i[langes

Realized Changes

Released
BioDapt Design

® 1-17-999(17-999) B.1
2021-5W-00045696

17-999 B.1 Released

DRW-SW-00001722

VF2 Foot{VF2 Foot) B.1
2021-5W-00045695

& VF2 Foot B.1
CAD-SW-00015103

VF2 FOOT B.1
DREW-3W-00001721

& 1-17-999 B.1
CAD-SW-00015102

EioDapt Design

Released
BioDapt Design

Released
EioDapt Design

Released
BioDapt Design

Released
EioDapt Design

Essentials View Tools

G IOBO® %9 P& 05 3 00X



B3 ENOVIA - Issue Management - My issues (7) - : ] v ENOVIA - Issue 3D Review - My issues - There are no issues to show.
E3] ENOVIA - Change Action B - L3 v 5??_
ENOVIA - Properties - 1-17-999(17-999) -
1-17-999(17-999) B.1 A

Eric ENGINEER

= ”» ® & Chang B sl A = O
Rea —Q!fj
Change Required: (>

Release Authorization:

& Reduce Overall Weight
CA-SW-00000069 | Eric ENGINEER e

Completed | 2022-01-28

all

Order | Title Approver Status Comments Approval Date
Manufacturing Approval Sam SUPPLIER Approve Looks Great - Approved Jan 26, 2022
Quality Approval Dan DESIGNER Approve Approved Jan 26, 2022
Product Management Ben BUSINESS Approve Great Work! Approved  Jan 26, 2022
Purchasing Approval Debbie DESIGNER Approve This task is Auto Com Jan 26, 2022

Purchasing Approval Pete PROJECT Approve This task is Auto Com Jan 26, 2022

Purchasing Approval Megan MANAGER Approve Costing Completed -A .. Jan 26, 2022

Approval Eric ENGINEER Approve APPROVED Jan 26, 2022

Close

Essentials View Tools

. G UuD@ee $3P0& 0

ﬁ



& The 3DEXPERIENCE platform x + “

“ & @ 3ds.com/3dexperience

Eric EMGIMEER 2 .
Demo Tenant -~ {1} + F:> 4 )g’ @

=) L My Tasks My Data My Markups My Changes ~ My Routes == =
ENOVIA - Issue Management - My issues (7) O - - fed ENOVIA - Issue 3D Review - My issues - There are no issues to show. & - .1 bt
p— By — . —
H=C + % *@ ‘ﬁ' — : 0 =
= Title Mame Maturity State Description Priarity Actions
+ ® Chain Guard Covering 155-5W-0000025 m The rear drive chain gu... Pre-assigned W
+| () Ball Hitch Extension ISS-SW-0000023 [ In Work User complaint aboutb... S Low ~
+ ® Handlebar Risers ISS-SW-0000024 m User complaint about n... = Low L
+ (1) Reduce Weight ISS-SW-0000063 [ In Work Customers are looking ... S Low v
+ ® Front Shock Length Resize ISS-SW-0000021 In Approval The travel on the fronts... = Medium L
+ ﬂ Casted enclosure needs manufacturability... |SS-SW-0000047 In Work Meed to verify this casti... Medium v
ﬂ @ Reduce COverall Weight 55-5W-0000069 h:gusmmers are requesti. .. L
D g VF2 Foot(VF2 Foot) 2021-5W-00045695 Releaszad "
@ 6 1-17-999(17-939) 2021-SW-00045696 Released b !}
Reduce Overall Weight CA-SW-00000069 Completed v N '
| b‘ /
Reduce Overall Weight (155-SW-0000069) o
Opened 38 minute(s) ago. Owned by Ben BUSINESS.
1 1 1 1 0 1/28/2022
{ o in Approval
Properties @ Related Object(s) ﬂ?n Members é’ Attachments l- Comments 'G} History
(7} o Essentials View Tools IJ\K

ENOVIA - Change Action - oo © @' D‘i:] g g ‘%’ 9 %D @' il ' s L X o



% 1. DOCUMENT MANAGEMENT

SECURE CLOUD BASED FILE STORAGE FOR ALL PROJECT DATA

¥, COLLABORATION

INTEGRATED COMMUNICATION WITH POWERFUL DESIGN REVIEW TOOLS

»»>» DESIGN RELERSE
o 4

EFFORTLESSLY MANAGE THE DETAILS OF THE RELEASE PROCESS

&E‘g CHANGE MANAGEMENT

FULL TRACEABILITY - FROM REQUEST TO COMPLETION

2O ® O

S SOLIDWORKS Y/ visiativ Szesaur










Recap + Giveaway winner Go Digital, Stay Human

15.10 - 15:30 15:30

By Dolf Broekaart By Christian Kromme

Round 1: 11:45 - 12:30
Break: 12:30 - 13:10
Round 2: 13:10 - 13:55
Round 3: 14.00 - 14:45
Break: 14:45 - 15:10

%/ visiativ



	Demo
	Slide 1
	Slide 2: 3DEXPERIENCE
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43
	Slide 44
	Slide 45
	Slide 46
	Slide 47
	Slide 48
	Slide 49
	Slide 50
	Slide 51
	Slide 52
	Slide 53
	Slide 54
	Slide 55
	Slide 56
	Slide 57
	Slide 58
	Slide 59
	Slide 60
	Slide 61
	Slide 62
	Slide 63
	Slide 64
	Slide 65
	Slide 66
	Slide 67
	Slide 68
	Slide 69
	Slide 70
	Slide 71
	Slide 72
	Slide 73
	Slide 74
	Slide 75
	Slide 76
	Slide 77
	Slide 78
	Slide 79
	Slide 80
	Slide 81
	Slide 82
	Slide 83
	Slide 84
	Slide 85
	Slide 86
	Slide 87
	Slide 88
	Slide 89
	Slide 90
	Slide 91
	Slide 92
	Slide 93
	Slide 94
	Slide 95
	Slide 96
	Slide 97
	Slide 98
	Slide 99
	Slide 100
	Slide 101
	Slide 102
	Slide 103
	Slide 104
	Slide 105
	Slide 106
	Slide 107
	Slide 108
	Slide 109
	Slide 110
	Slide 111
	Slide 112
	Slide 113
	Slide 114
	Slide 115
	Slide 116
	Slide 117: Break-out sessions


